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LEAVING CERTIFICATE, 1896. 

EXAMINATION PAPERS. 

ENGLISH. 

LOWER GRADE. 

Tuesday, \§th June. 10 A.M. to 12.30 P.M. 

Every Candidate should answer nine questions, and no more, of which 
five must be in Section I., two in Section II., and two in Section III. 
Questions 1, 2, and 3 must be attempted. 

SECTION I. 

1. Write out, and punctuate, the passage read for dictation. 

2. Write a short essay of about two pages on one of the following 
subjects:— 

(а) The character and career of Richard L, or of Oliver 
Cromwell, or of the Young Pretender. 

(б) A letter to a friend, containing an invitation to spend a 
holiday with you. 

3. Paraphrase the following lines, so as to bring out their full 
meaning:— 

’Tis easy to resign a toilsome place, 
■ But no Wo manage leisure with a grace. 
Absence of occupation is not rest; 
A mind quite vacant is a mind distress’d. 
The veteran steed, excused his task at length 
In kind compassion of his failing strength, 
And turn’d into the park or mead to graze, 
Exempt from future service all his days. 
There feels a pleasure perfect in its kind, 
Ranges at liberty, and snuffs the wind. 
But when his lord would quit the busy road, 
To taste a joy like that he has bestow’d, 
He proves, less happy than his favour’d brute, 
A life of ease a difficult pursuit. 

4. Point out the words of classical origin in the passage quoted in 
Question 3. Give the derivation oifive of these words. 

Parse the words italicised in the above passage. 

5. Make a general analysis of the following sentence :—“ He held it to 
be the duty of all true Christians to form congregations apart, 
to which only those whose religion and morality were beyond 
question should be admitted.” 
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Parse each of the following italicised words :—(a) I shall "O', 
if necessary, (b) Give me my walking-stick, (c) She did 
nothing but scream, (e?) Tell no one else. 

6. Explain, and give an example of, (a) nominative absolute, (6) 
adverbial clause, (c) direct and indirect speech. 

Give examples of the different sounds represented by ough and 
ei in English. What consonants in the English alphabet are 
phonetically unnecessary, and why ? 

Give the origin and meaning of the following abbreviations >— 
i.e., e.g., viz., R.S.V.P. 

7. Correct the errors in the following sentences, and give reasons for 
your corrections:— 

(a) We are all apt to imagine that what is, always has and 
always will be. 

{b) I meant to have called on him, when I first came. 
(c) He is not one of those who interfere in matters with which, 

he has no concern. 
{d) Having had much experience in these departments, the 

reader may rely on the truth of the following observa- 
tions. 

(e) That she was a somnambulist I know, as I have seen her 
under its influence. 

8. Name and describe the metre in which the passage in Question 3 is 
written. With what other English metres are you acquainted ? 
Describe them, and quote au example of each. 

9. Describe, and quote from, three songs and three ballads with which 
you are familiar. Name the authors, if they are known. 

SECTION II. 

(In the answers under this Section attention must be paid to accuracy 
and clearness of composition. Mere lists of events and dates will 
not be regarded as sufficient.) 

10. Write a connected account of the career and reign of any one of the 
following sovereigns :—Cnut; John; Richard II. ; Henry VII. ^ 
Elizabeth ; Charles II.; George II.. 

11. Describe so as to show their importance, any three events in the 
following list:—Battle of Senlac; Battle of the Standard ; 
Provisions of Oxford ; Death of the Maid of Norway ; Treaty of 
Bretigny ; Rise of the Lollards ; Battle of Bosworth; Dissolution 
of the Monasteries; Defeat of the Armada ; Petition of Right; 
Battle of Worcester; Habeas Corpus Act; Peace of Utrecht; 
Battle of Culloden ; American Declaration of Independence; the 
Peninsular War ; the Indian Mutiny. 

12. Write a short paper on one of the following :—The Crusades ; the 
origin and result of the Wars of the Roses ; the growth of royal 
power under the Tudors; the effects of the English Revolution 
of 1688 ; the effects of the Scientific Inventions of the last and 
the present Century; the Abolition of Slavery. 

SECTION III. 

13. What are the principal causes which affect the climate of a district t 
Illustrate your answer by examples. 



EXAMINATION PAPERS. 185 

14. Where are the following places ?—Balaclava, Darien, Salamanca, 
Glencoe, Langside, Khartoum, Sebastopol, Rouen, Plassey, 
Versailles? Choose five of these places, and say what important 
events are connected with them. 

15. From what parts of the world do the following articles chiefly come 
to Great Britain ?—Rice, cotton, figs, wool, sago, alpaca, cochi- 
neal, cork, mahogany, ostrich feathers. 

16. Write a description of Wales : its chief mountains rivers, ports, and 
commerce. 

17. Describe the course of the Forth and of the Trent; mention the 
chief towns on the banks of each ; and state in what the industry 
of each town consists. 

ENGLISH. 

LOWER GRADE. 

Tuesday, 16th June. 10.45 A.M. 

Passage for Dictation. 

Few virtues have been more eulogized by moralists than generosity ; 
but among the many who recommend the duty of giving, I am 
surprised that there are few who inculcate the ignominy of receiving, 
or show that by the frequent acceptance of gift or relief from others, 
we in some measure forfeit our native freedom and independence. 
Besides the deleterious effects on the recipient, this constant intercourse 
of benefaction and acknowledgment is often injurious even to the giver ; 
for the habitual humiliations of a circle of retainers must necessarily 
exaggerate the comparative magnitude of the patron, and foster self- 
conceit. 

ENGLISH. 

HIGHER GRADE AND FIRST PAPER FOR HONOURS GRADE. 

Tuesday, 16th June. 10 A.M. to 1 P.M. 

Every Candidate should answer nine questions, and no more; and every 
Candidate must take questions 1 and 2, and, in addition, three other 
questions in Section I. 

Higher Grade Candidates should take, also, two questions in Section II., 
and two in Section III. 

Honours Grade Candidates are not required to answer questions from 
Sections II. and III., but may do so. The full number of marks 
can be obtained in Section I. 

SECTION I. 

1. Write a short essay of about two pages on one of the following 
subjects:— 

(а) Spring wild flowers. 
(б) Your favourite holiday occupation. 
(c) A comparison of Treasure Island (or any other modern 

book of adventure) with Robinson Crusoe. 
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2, Paraphrase the following poem, so as to bring out the full 
meaning:— 

O Friend ! I know not which way I must look 
For comfort, being, as I am, opprest 
To think that now our life is only drest 
For show ; mean handiwork of craftsman, cook, 
Or groom !—We must run glittering like a brook 
In the open sunshine, or we are unblest; 
The wealthiest man among us is the best: 
No grandeur now in Nature or in book 
Delights us. Rapine, avarice, expense, 
This is idolatry ; and these we adore : 
Plain living and high thinking are no more ; 
The homely beauty of the good old cause 
Is gone ; our peace, our fearful innocence, 
And pure religion breathing household laws. 

Name and describe the metrical structure of the above poem. 

What is meant by the heroic measure (or iambic pentameter), 
and by the romantic measure (or iambic tetrameter) ? What 
are the principal kinds of verse or of stanza that have been made 
of these in English poetry ? Quote an example of each kind 
you mention. 

4. Point out any figures of speech that occur in the above poem. 

Define metonymy, hyperbole, anticlimax ; and illustrate each 
by an example. 

Give the origin and meaning of the following abbreviations 
i.e., e.g., viz., R.S.V.P. 

5. Make a general analysis of the following sentence :— 

“ Fatally deficient as the Revolution was in positive principles, 
yet, as time cools our passion and gives us a juster perspective, 
this will become more and more clear, that the lawlessness of 
the last ten years of the century was less, not greater, than that 
which had been universal since the Regency.” 

Explain accurately, and illustrate by an example, the meaning 
of each of the following terms:—parenthetic sentence, finite verb, 
synthetic language, apodosis. 

6. Parse the words italicised in the following sentences, and give in 
each case the origin and exact meaning of the grammatical 
usage:— 

(а) I am going to-morrow, 
(б) Read Burke, than whom none is more eloquent. 
(c) Two a penny. 
(d) Since then I have not seen him. 
(e) I was asked the same question. 

7. Explain carefully the ambiguity, and the causes of ambiguity, in 
the following sentences; and re-write each, so as to express 
clearly and definitely one of its possible interpretations :— 

(а) My Christian and surname begin and end with the same 
letter. 

(б) So I promised to say nothing which I hoped would 
conciliate him. 
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(c) He maintained that publicans detested drunkards as much 
as teetotalers. 

(d) The manuscript contains only one religious poem by 
Henryson. 

(e) When did you tell him you would come ? 

8. Name, with a short description or with quotations, poems in which 
the following are celebrated or referred to:—Agincourt, Venice, 
Flodden, Nelson, Blenheim, Cromwell, Corunna, Kempenfelt. 

9. Illustrate from Chaucer, or Shakespeare, or Scott, each of the 
following :—pathos, humour, terror, irony, hypocrisy ; and add a 
brief criticism to show what seems to you admirable in the 
scenes or passages you mention. 

SECTION II. 

(In the answers under this Section attention must be paid to accuracy 
and clearness of composition. Mere lists of events and dates will 
not be regarded as sufficient.) 

10. Write a connected account of any two of the following :—-Dunstan, 
Hubert de Burgh, Wiclif, Maid of Orleans, Sir Thomas More, 
Laud, Clarendon, Shaftesbury, Bolingbroke, Wilkes, Warren 
Hastings, Lord John Russell. 

12. Describe, so as to show their importance, any four events in the 
following list:—• 

Agricola’s Conquests in Britain; the Treaty of Wedmore; 
the Constitutions of Clarendon; the Battles of Lewes and 
Evesham ; Wat Tyler’s and Jack Cade’s Rebellions; the Breach 
with Rome under Henry VIII.; the Murder of Darnley; the 
Thirty Years’ War; the Ship-money Writs; the Declaration of 
Rights; the War of the Spanish Succession; the Stamp Act; 
the Catholic Emancipation Act; the Indian Mutiny. 

12. Give short papers on any two of the following : — 

The Crusades; Social and Religious Movements in the time 
of Chaucer; Elizabeth’s Settlement of Church and State; the 
Rise cf Puritanism ; the effects of the English Revolution on the 
social life and literature of the Eighteenth Century; Burke’s 
attitude to the political questions of his time; the effects of 
scientific invention on the industrial organization of our 
century. 

SECTION III. 

13. What are the principal causes which affect the climate of a district 
Illustrate your answer by examples. 

14. Where are the following places, and what events are associated 
with them ?—Balaclava, Darien, Salamanca, Glencoe, Langside, 
Khartoum, Sebastopol, Rouen, Plassey, Versailles. 

15. Write a short account of the physical features of Africa, 
describing its principal mountain ranges, lakes, and rivers. 
What portions of Africa are under British influence ? 

16. Write a description of the West Indian Islands, their physical 
formation climate, chief towns, and exports. 
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17. State what you know of the physical geography of Canada, name 
its chief ports, and describe its government. 

ENGLISH. 

HONOURS.—SECOND PAPER. 

Monday, 22nd June. 10 A.M. to 1 P.M. 

About six questions should be answered. At leant POUR of these 
must be taken from Section I. 

SECTION I. 

1. Illustrate the essential characteristics of Chaucer’s originality. 

2. Examine the advantages and disadvantages of “ allegory ” as a 
form of literature; and compare any two English allegories with 
which you are acquainted. 

3. Describe and compare any three of Shakespeare’s humorous 
creations. 

4. Define what is meant by a Lyric Poem; distinguish carefully 
between the various kinds of Lyric poetry; and illustrate your 
answers from poems you know. 

5. "What schools of deliberately artificial writing have become fashion- 
able or obtained currency in our country ? Refer to some of 
the leading authors whose works illustrate those fashions, and 
to some of the causes that introduced or favoured them. 

6. Discuss the influence exerted on English literature by any one of 
the following :—The Norman Conquest, Puritanism, the Revo- 
lution of 1688. 

7. Give a short account of the works of the Scottish followers of 
Chaucer in the fifteenth and sixteenth centuries. 

S. Compare the romantic poetry of Scott and of Byron. 

9. State what you know of the following prose works:— Utopia, 
Areopagitica, Vicar of Wakefield, Sartor Resartus, Tale of a 
Tub. 

10. Examine and illustrate the characteristic points of difference 
between the poetry of Pope’s time and that of Wordsworth’s 
time. 

SECTION II. 

Optional Questions. 

11. Translate into Modern English :— 

Deah we Sisse worulde wlgnca tilien swISe, and in wuldre 
sclnen swlSe ; fieah we us gescierpen mid Sy readestan godwgbbe, 
and gefraetwien mid $y beorhtestan golde, and mid Stem 
deorwierSestum gimmum titan ymbhon ; hwieSre we sculon on 
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nearonesse gnde gebldan. Deah-Se t5a mihtigestan and tSa 
rlcestan haten him rgste gewyrcean of marmanstane, and mid 
goldfrsetwum and mid gimcynnum eall astaened, and mid 
seolfrenum ruwum and godwgbbe eall oferwrigen, and mid 
deorwierSum wyrtgemgngnessum eall gestreded, and mid gold- 
leafum gestreowod ymbutan, hwseSre se bitera deab tSast todaeleS 
eall. Donne bi8 se glgng agoten, and se Srym tobrocen, and Sa 
gimmas toglidene, and Saet gold tosceacen, and Sa llchaman 
tohrorene and to dust gewordene. 

12. (a) Give the 3rd sing, present, 3rd sing, preterite indicative, and 
pjjst participle of: feohtan, brecan, sittan, ceosan, etan. 

(6) Give the nominative plural of: freond, wif, sunu, pegen, wundor. 
(c) Trace the origin of the following forms, and account for the 

letters italicised :—them, amidst, anent, thence, seldom. 
(d) Explain and illustrate the following:—metathesis, syncope, 

aphaeresis, apocope. 

13. Examine and illustrate the leading characteristics of Old English 
literature before the Norman Conquest. 

14. Give a detailed account of the Old English Dialects, showing their 
respective relations to the English of Chaucer. 

15. State what you know of The Owl and the Nightingale, The Prick 
of Conscience, Pearl, “ Mandeville's ” Travels, Brut. 

LATIN. 

LOWER GRADE. 

Thursday, 18th June. 10 A.M. to 12.30 P.M. 

Candidates should in all cases attempt Question 1. 

1. Translate into Latin :— 
Thus the Aequians were attacked on both sides, and seeing 

there was no escape, surrendered and prayed for mercy. Cin- 
cinnatus granted them their lives, and allowed them all to depart 
home unharmed after passing under the yoke, except Gracchus 
Cloelius and the other commanders. These he kept as prisoners of 
war, and he divided the spoil among his victorious soldiers. In 
this manner Cincinnatus rescued the blockaded army, and 
returned in triumph to Rome; and when he had delivered his 
country from its enemies, he laid down his office on the sixteenth 
day, and returned to his fields, crowned with glory and honoured 
by the people, but poor and contented in his poverty. 

2. Translate into English :— 
Ulysses and Ajax. 

(a) Tibi dextera bello 
utilis; ingenium est, quod eget moderamine nostro 
tu vires sine mente geris : mihi cura futuri. 
tu pugnare potes : pugnandi tempora mecum 
digit Atrides. tu tantum corpore prodes, 
nos animo. quantoque ratem qui temperat, anteit 
remigis officium, quanto dux milite maior, 
tantum ego te supero. nec non in corpore nostro 
pectora sunt potiora manu ; vigor omnis in illis,. 
at vos, o proceres, vigili date premia vestro. 
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Negotiations with Barbarians. 

(V) Turn maximus natu ex eis, “ missi sumus ” inquit “ a gente 
nostra, qui sciscitaremur, qua tandem re fretus arma nobis 
inferres ? ” ad banc percontationem Gracchus exercitu se 
egregio fidentem yenisse respondit, quem si ipsi visere velint, 
quo certiora ad suos referant, potestatem se eis facturum esse : 
tribunisque militum imperat, ut ornari omnes copias peditum 
equitumque et decurrere iubeant armatas. ab hoc spectaculo 
legati missi deterruerunt suos ab auxilio circumsessae urbi 
ferendo. 

3. (a) Give the (1) meaning, (2) gender, (3) genitive singular, of the 
following nouns:—vds, vds, tus, gens, genus, ordo, palus, pdlus, 
seges, cinis. 

Mark the quantity of the last syllable but one, when the 
genitive is a word of three syllables. 

(6) Parse the following words, and give the 1st person present 
indicative active, and other principal parts, of the verbs from 
which they come :—cessistis, peterentur, quaesieris, coepisti, 
nacti estis, gesturus, caruerunt, morarere, vinxisti, pepigero, 
differres, dedisses. 

(c) Give the comparative and superlative of :—bene, male, 
vetus, maledicus, idoneus, acer: and give the Latin words for 
here, hither, hence—where, whither, whence. 

(d) Distinguish between duo, alter, secundus, bini, bis; and 
give the corresponding forms (so far as they exist) in the case of 
the numbers one and three. 

Distinguish between quidam, quis (indefinite), quisquam, 
aliquis, quisquis, quilibet. 

4. Translate into Latin :— 
1. I have no one to help me. 

2. I know that he would have returned if you had allowed 
him. 

3. There is no one here who does not think so. 

4. Tell me how many friends you will bring with you. 

5. He will return to you at Rome on the 30th March. 

5. Answer one (not both) of the following questions :— 

(a) Give some account of any one of the following:—C. 
Gracchus—Sulla—Catiline—the Emperor Tiberius, 

Or, 
(b) Explain the terms dactyl, spondee, caesura, elision; and 

give the scansion of the last five lines of passage 2 (a) {nos 
ammo, to praemia vestro). 
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LATIN. 

HIGHER GRADE AND FIRST PAPER FOR HONOURS GRADE. 

Thursday, 18th June. 10 A.M. to 1 P.M. 

Candidates will not receive a certificate unless they reach the 
necessary standard both in Prose Composition and in Translation. 

1. Translate into Latin :— 
According to the Athenians, Adeimantos, the Dauntless (for 

such is the meaning of his name), fled in terror at the beginning 
of the fight, followed by his countrymen, and they were already 
well on their way when a boat, which no one was known to 
have sent, met them, and the men in it cried out, “ So, Adeimantos, 
thou has basely forsaken the Greeks, who are now conquering 
their enemies as much as they had ever hoped to do! ” 
Adeimantos would not believe; but when the men said that they 
would go back with him and die if they should be found to have 
spoken falsely, he turned his ship and reached the scene of action 
when the issue of the fight was already decided. This story the 
Corinthians met with the stout assertion that they were among 
the foremost in the battle; and it is added that their rejoinder 
was borne out by all the rest of the Greeks. 

2. Translate into English :— 
(a) Esse quid hoc dicam, vivis quod fama negatur 

et sua quod rarus tempora lector amat ? 
hi sunt invidiae nimirum, Begule, mores, 

praeferat antiques semper ut ilia novis. 
sic veterem ingrati Pompei quaerimus umbram, 

sic laudant Catuli vilia templa senes. 
Ennius est lectus salvo tibi, Roma, Marone 

et sua riserunt saecula Maeoniden : 
rara coronato plausere theatra Menandro, 

norat Nasonem sola Corinna suum. 
vos tamen, o nostri, ne festinate, libelli: 

si post fata veni’t gloria, non propero. 

(6) Ludis vero dimissis, cursu prope omnes tendere ad 
imperatorem Romanum: ut ruente turba in unum, adire, 
contingere dextram cupientium coronas lemniscosque {ribbons) 
iacientium, baud procul periculo fuerit. sed erat trium ferme et 
triginta annorum ; et cum robur iuventae turn gaudium ex tam 
insigni gloriae fructu vires suppeditabat. nec praesens omnium 
modo effusa laetitia est, sed per multos dies gratis et cogitationibus 
et sermonibus revocata : esse aliquam in terris gentem, quae sua 
impensa, suo labore ac periculo bella gerat pro libertate aliorum : 
nec hoc finitimis aut propinquae vicinitatis hominibus aut terris 
continenti iunctis praestet: maria traiciat, ne quod toto orbe 
terrarum iniustum imperium sit, et ubique ins, fas, lex potentissima 
sint. una voce praeconis liberatas omnes Graeciae atque Asiae 
urbes. hoc spe concipere audacis animi fuisse : ad effectum 
adducere et virtutis et iortunae ingentis. 

3. Translate into Latin :— 
(а) He could not, without encountering many serious dangers, 

prevent the enemy from taking this path. 
(б) He said that he knew no one who would conduct the war 

better than Fabius. 
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(c) They were so far from refusing this request that, if the 
leader of the Oherusci had not interposed, they would 
have given a hundred hostages to the Romans. 

(d) Construct short sentences exhibiting the following words 
used with their proper constructions :—moneo, invideo, 
impero, decet, rifert, paenitet. 

4. Answer one (not both) of the following questions:— 
(a) State briefly the chief duties and privileges of a consul, 

praetor, aedile, quaestor. Tribune of the Plebs ; 

(b) Describe shortly the battles of Pharsalia, Philippi, and 
Actium. Name the leaders on either side, and indicate 
the importance of the issue that was at stake in each 
case. 

LATIN. 

HONOURS. SECOND PAPER. 

Monday, 22nd June. 2 to 5 P.M. 

1. Translate into Latin :— 

The movement was short-lived, threatening as was its march 
at first. It spread through Syria without let or hindrance, and 
all beyond the Taurus was won by the usurper’s arms. It 
seemed that there was no time to be lost; and the Emperor 
was cn his way to face the struggle in which an Empire was 
at stake, when the news came that Cassius was no more, having 
met an inglorious death by the hand of a petty officer of his own 
army, the victim of revenge more probably than of loyal feeling. 
The Emperor heard the tidings calmly, showed regret at the 
death of the pretender, and would sanction no vindictive 
measures, though Faustina, whom idle rumour has accused of 
urging Cassius to revolt, had written to him before in a tone of 
passionate resentment, praying him not to spare the traitor, but 
to think of the safety of his children. 

2. Translate into English:— 

(a) Cossus at insequitur Yeientis caede Tolumni, 
Yincere cum Veios posse laboris erat. 

O Veii veteres, et vos turn regna fuistis, 
Et vestro posita est aurea sella foro : 

Nunc intra muros pastoris bucina lenti 
Cantat et in vestris bssibus arva metunt. 

Forte super portae dux Veius adstitit arcem 
Colloquiumque sua fretus ab urbe dedit. 

Dumque aries murum cornu pulsabat aheno, 
Vinea qua ductum longa tegebat opus, 

Cossus ait “ forti melius concurrere campo.” 
Nec mora fit, piano sistit uterque gradum. 

Di Latias iuvere manus; desecta Tolumui 
Cervix Romanos sanguine lavit equos. 
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ib) Edictum domini deique nostri, 
Quo subsellia certiora fiunt 
Et puros eques ordines recepit, 
Dum laudat modo Phasis in theatre, 
Phasis purpureis ruber lacernis, 
Et iactat tumido supinus ore : 
“ Tandem commodius licet sedere, 
Nunc est reddita dignitas equestris ; 
Turba non premimur nec inquinamur” : 
Haec et talia dum refert supinus, 
Illas purpureas et arrogantes 
lussit surgere Leitus laeernas. 

(c) Et hercule omnia haec, quae a me de facetiis disputantur, 
non maiora forensium actionum quam omnium serraonum con - 
dimenta sunt., nam sicut quod apud Catonem est—qui multa 
rettulit, ex quibus a me exempli causa complura ponuntur—per 
mihi scitum videtur, C. Publicium solitum dicere “ P. Mummium 
cuivis tempori hominem esse,” sic profecto se res habet, 
nullum ut sit vitae tempus, in quo non deceat leporem humani- 
tatemque versari. Sed redeo ad cetera. Est huic finitimum 
dissimulationi, cum honesto verbo vitiosa res appellatur; ut cutn 
African us censor tribu movebat eum centurionem, qui in Pauli 
pugna non adfuerat, cum ille se custodiae causa diceret in castris 
remansisse quaereretque, cur ab eo notaretur, “ non amo ” inquit 
“ nimium diligentes.” Acutum etiam illud est, cum ex alterius 
oratione aliud excipias atque ille volt; ut Salinatori Maximus, 
cum Tarento amisso arcem tamem Livius retinuisset multaque 
ex ea proelia praeclara fecisset, cum aliquot post annos Maximus 
id oppidum recepisset rogaretque eum Salinator, ut meminisset 
opera sua se Tarentum recepisse, “ quidni ” inquit “ meminerim ? 
Numquam enim recepissem nisi tu perdidisses.” 

3. Translate the following, explaining and illustrating, by example, 
all peculiarities of expression or construction :— 

(а) Persarum regis potestas pacis et belli. 
(б) Facere omnia aut voluptatis causa aut eorum, quae 

secundum naturam sunt, adipiscendi. 

(c) huic ego volgus 
Errori similem cunctum insanire docebo. 

(eZ) tune hinc spoliis indute meorum 
Eripiare mihi ? 

(e) Dispeream ni 
Submosses omnes. 

(/) Relicturi agros omnes erant, nisi ad eos Metellus Roma 
litteras misisset. 

(<jr) Yoltus nimium lubricus aspici. 

(k) Ausculta paucis ; et quid ego te velim et tu quod 
quaeris scies. 

(i) Yaleri genus, unde superbus 
Tarquinius regno pulsus fuit. 

Why is the reading “ fugit ” to be preferred here ? 
(k) Limosoque lacu per noctem obscurus in ulva 

Delitui dum vela darent si forte dedisseut. 
How would you punctuate the second line? 
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4. Answer one (not both) of the following questions- 
(а) Write a short Latin essay describing the character and 

career of either Julius Caesar or Augustus. 
(б) Translate into Latin Elegiac verse:— 

The Foray. 

The last of our steers on the board has been spread, 
And the last flask of wine in our goblet is red; 
Up, up, my brave kinsmen ! belt swords and begone, 
There are dangers to dare, and there’s spoil to be won. 
The rain is descending ; the wind rises loud; 
And the moon her red beacon has veil’d with a cloud ; 
’Tis the better, my mates ! for the warder’s dull eye 
Shall in confidence slumber, nor dream we are nigh. 
Our steeds are impatient! I hear my blythe grey! 
There is life in his hoof-clang, and hope in his neigh ; 
Like the flash of a meteor, the glance of his mane 
Shall marshal your march through the darkness and rain. 

(SCOTT.) 

5. Answer one (not both) of the following :— 
(а) Describe in outline the policy pursued by Rome towards 

the nations she conquered and her methods of governing 
them. 

(б) Consider the poetry of Yirgil and Horace as expressive 
of an enthusiasm for (1) the City of Rome, (2) Italy 
and the Italians, (3) the Emperor and the new 
Imperial system. How are these elements related to 
one another ? 

GREEK. 

LOWER GRADE. 

Wednesday, 17th June. 2 to 4.30 P.M. 
I. Translate:-— 

[Conversation between Diogenes and Alexander in the lower world.'] 

Aior. T/ TOSTO, U ’AXefavfye ; KOA <rv reOiojicaf, £,trite? ncii vj/JifTf 

aicavTet;; 

AAEE. opas, co Ailyeveq' ov icapdioHov $/, el avdpcoiroi; £v aitedavov. 

AlOr. avKOvv o ‘'A^pt-cov itpevSero, "keytov eavrov ere elvac iwV tri 

<bc\(icicov apex, ■/jtrda ; 

AAES. tyiklwicov fivjkaSy ‘ o£ yap av eTcOvvjKfjy "ApLuavof av. 

AIOP. aXka yeka eytoye avaputriarOets oca eitoiec y ‘EXkdt;, dpn trt 

tcapeiXtitpoTa TVjv apXW KoXaicevoines1, Ka) trrpaitjyov aipoijpieyoc iitt reif 

fiapfidpovt;, xat af 6ef Ovovref. eKeivo tie ytiecof av pdOaijM itapd trov, irwt; 

tpepetf oitQTav evvoytryi; otry;v eilaifjAvlav diroXnrcov hevpo cupt^af o£ yap 

XvreT roana tre vno r\v gv^nv 'dvra ; rl SaKpveig, 2 pcdcraie; oi ravrd 

ire o rotpoi; ‘ApitrrereXrji iicathevtre py tnetrOac fiefiaia elvat rd icapd rvjs 

rdxK; 
AAES. e£ trot/iof i/eelvof, dXXd ycyjf2, 2 Aioyeve?, uvQpoicat; KOU /coXaf. 

1 KoXaKtvttv, “ to flatter.” 3 ylrjf, “ a juggler.” 
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I. Translate into Greek :— 

(1) The Indians said that their king had sent them thither. 
(2) On the same night the ships set sail for home. 
(3) I know that I am dear to most of the citizens. 
(4) Who is so clever at speaking as to be able to persuade 

you? 
(5) He came up to Cyrus and begged (beTa-dai) him not to put 

the boy to death. 
(6) Whenever the prison was opened, we used to 

go in to Socrates. 

III. (a) Give the genit. sing, and dat. plur. of:—eap, sflvo?, eXw/?, 
Kepai;, ov;, vyrfs, fie'ATiav. 

Give stems, voc. sing, and acc. plur., of ytuperprii;, <5pun, KVUV, 

Yloa-ei^Zv. 

Give comparatives and superlatives of KOVQOS, o-ocph;, /caXo'<, 
yfltpie'u;, trucppoiiz^ ala-^pZ^, piphov, 

(b) Give the future and aor. act. 1st pers. sing, of ikavva, 

ka[A^eiva>, a-fiewvft.1, yiyvua-KW, Kay.vco, •Kivu, ovlvviy.i. 

Augment iOi^u, e'AKa, U6U, «»€%o^ai, e’S, avoiyu, ctyvvpu, oiKoio^u. 

Give a single example in each case. 
Parse TkiiOl, 0-%e$> oi(pu[^ev, dkofy, e8i)8«K06, eVirew/Aevo?, fliuvou, TtOveui;, 

giving the ciiief tenses of each verb. 

(c) Express in Greek:—(a) the gift of the poor woman ; 
(b) the men in the city ; (c) the guards are standing; (eZ) in 
accordance with the laws. 

What cases are governed by pezkxu, (Zorfiu, ahu, 8i$d<r/<u, 

XapltyiAou, dmixTepu, Ka.Touppwu ? 

GREEK. 

HIGHER GRADE AND FIRST PAPER FOR HONOURS GRADE. 

Wednesday, 17th June. 2 to 5 P.M. 

{Candidates will not receive a Certificate unless they reach the necessary 
Standard both in Grammar and Translation^) 

I. Translate:— 

'EKtkiopKei y.ev 85) ovru rijv KOAIV. tire) 8e oi KepKvpcaot IK fiv ri}? 

yijt; ov^ev eAd.iAfia.vov 8ta TO Kpa.'reiix&a.i Kara, yvjv, Kara. OdAarrav Se o88ei/ 
eirfyero avroif 8id TO vau/cpareiirdai, e’v KoAAjf aKopta. vjtrav' Koii KIIAKOVTO; 

Kpof rot/f ’AOijvai'ovf fiorjOeiv re eSeovro, /cost etitarKOy &<; fiya fAev dyadov 

aKofidkoiev dv, el KepKupag crrep^SeTev, roif Se KoAefioic; veydAyv dv l<r%vv 

KpoqfidAoiev * et; oibefAidf yap KOAewq KArjv ye 'Adr/vaiui afire vaZq afire 

yfi/Aara KAelava av yeverdai. eri 8e KeTrdat rrtv depKvpav ev Ka.Au fAev 

Kp'oq rov KopivBiaKov KOAKOV, ev KaAS 8e uare rr,v AaKuviKrjv yupav 

fiAdvreiv, ev KaAAlrrcp 8e Kpoq rov elq U.eAoKovvif<rov dm HiKeAtaq 

KapaKAovv. aKOvravreq Se ravra pi A^vaioi evofAitrav !<r%vp2$ eiti- 
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//.eXvjTeov eivou, iipri<pitrccvTO 8e e^KovTa vatic, icXrjpovv, TifAoOeov S’ avrav 

crTpocTyyov exeipoTorrioav. a 8' ai 'bwocpevos avroQev T«$ votiq <ir'hY)pZ<ra.i, 

in) vvjaav nXetStraq ixeTOev inttpara trvpanX’ripovv. of 8’ 'ABvjvaToi vopityvTei; 

atirov ccvotXQvv rov rrjq apaq elf rev irepmXovv yjpivav, (ruyyvw/Aijv WK eayai 

avrS, ah'ha. notia-avref otirlv rvjf crrparYiyla.f 'IcpmpaTViv avOoupovvraci. 

II. Translate one of the following passages :— 

(a) "£lf o ye'pav urpvve nakou noXepcav el ei’8«6$. 

KO.) rov paev 'yffi^rev iSoav xpelav ’’Aya.fAept.vuv, 

Kal fA.iv (pavrirraf eneoc nrepoevrac npofrpjba, ‘ 

’O yepov, tifl’, aif 8vpA.of ev) erryOeariri <plXoi<nv, 

af rot yovvacQ’ eicoira, (3«j 8e roi e/jmehof e'lrj ’ 

aXXd re yypaf reipei ofA-oliov' £if o<pe\ev rtf 

dvbpSv aXXof e%etv, <rv 8e Kovporepotrt fAeretvat. 

Toy 8* rjfA.etBer eiretrot Fepyvtof initorat Neo-reap • 

'Arpe’tZrj, pnaXa ft-ev icev eyav iBeXotfu KOU avrlf 

uq e[A.ev of ore Sfoy 'EpevBa/Jova, tearetera,v. 

dXX’ ovnaf afoot ndvrot Oeo) SoVav avOpunotciv ’ 

el rort Kovpof eat, vvv dire poe yypotf oicdX,et. 

aXXd. tea.) of tnicevri /Aerera-Oftat, ^8e KeXeiro 

fiovXy KO) foiBoiri ‘ ro yap yepaf err) yepLvrov. 

al%f/.df S’ al^fAtarrovri veurepot, ilnep epoeTo 

oirXorepot yeydart rcenolBariv re fitfcpiv. 

(b) KUKOV yap ovrov (Jtvplov KUO' 'EXXctSa, 

ov8ey KatKiov errtv a.6Xr\rav yevovf. 

eftefoipdfAriv 8e Ka) rov 'EXXijyav voptov, 

a? T5V8’ eicart rvXXoyov Trotoifoevoi 

ripoor a%pe(ovf yiovdf Satrof x^Ptv- 

rtf yap icaXalraf el, rlf oKvnovf dvfip, 

r) VtrKov apaf, rj yvdBov italraf KaXZf, 

otoXet narpay, rretpavov rjpKerev Xafidv ; 

norepa foaxovvrat noXefotoirtv ev %epo7v 

dlrKovf exovref, y 8/jg’ drntbuv nor) 

Qelvovref eKfiaXovn noXefotovf ordrpaf ; 

iXPW yap dvlpav rolf rotpavf re KayaOovf 

(pvXkotf rre<j>er6at, x^r“; r/yetrat noXet 

KaXXtrra, rutppav Ka) hUatof ov didjp, 

orrtf re fovOotf epy dnaXXdrret KaKa, 

foaxaf T* depatpov Ka) rrdretf ' rotavra yd 

noXet re ndrrj ndrt 6’ EXX^rtv KaXd. 

yvdOof, “ jaw ” ; ypKerev, “ succoured.” 

III. Translate into Greek :— 

(1) States will never cease from trouble (KUKU) until philoso- 
phers become rulers. 

(2) They refuse to go unless some one gives them money for 
what they have already done. 

(3) He took us by the hand and brought us in to his wife and 
children. 
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(4) The Athenians were perplexed how to defend themselves, 
having neither ships nor allies. 

(5) Socrates said that to die was better than to live, if a man 
were unjust. 

(6) So long as the Lacedaemonians were at war with the 
Athenians he bade the allies not to send corn to the 
Piraeus. 

(7) If anyone had asked you who you were, you would have 
told him the truth. 

IV. (1) Give (a) 2nd sing, imperat. of KaOyf/.at, (jrript. ^ 

(b) 1 aor. ind. 3rd sing, of payopoit, fiavkafAcu. 
(c) perf. inf. pass, of StaXXaTTM, SeiKw/At. 

(d) 2 aor. opt. 3rd plur. of mvOdvoiAcu, Kay.™. 
(e) fut. ind. 2nd sing, of yeXS, icXea. 

Parse ereo-ijirtaj, direypy, dfjuy'Oe, avayfit, irpoeiVTCct, XeXijo-jwevoi, 

iy/flea-Bya-av, iicurneo-Ocu, KaBefiovyeOa. 

(2) Translate, explaining the cases : — (a) noo-ov MdaKei ; 
(b) rSv i(p’ fjyZv dpurroi; (c) ytTCfiv yj KCIT avOpumv; (rf) 
avrov (povov ; (e) itctpd, xdvra. TOV ypovov. 

Express in Greek :—(a) the battle of Marathon; (b) he went 
away by night; (c) he was of the same name as his father; 
(rZ) they do not cease from fighting; (e) I hope to conquer. 

(3) In what way is a prohibition expressed in Greek ? 
Distinguish (a) tvep with gen. and acc.; (6) hd with gen. and 
acc. ; (c) ahryvvoi and ala'/yvoycu ; (cZ) dnobilayi and dwobl'boya.i. 

GREEK. 

HONOURS.—SECOND PAPER. 

Thursday, 18th June. 2 to 5 P.M. 

I. Translate:— 

(1) IIoAXa TOIVVV dv T»?, U dyfipes ’ASyvouoi, QflXiirirov evlaiyovfaa$ 

'r’J? TVX’OS eiKOTUs, TOVTO ydkirTz’ dv €vhouywl<T€itv dyrdvruv, o yd rot? 
6eov<; KOU rd<; Beds OVK eyo Xeyeiv eycoye aXkov o?T(? eirvyriKev e(p' vjySv. 

TO icolov ; TO, iiceibri novvjpav avBpuiccov ei$ rd itpdyya.T avrS e’Seijo-e, 

itovvipoTepovi; tvpeTv q eftovXeTo. orSj ydp ovy OVTOI TOIOVTOI tiiKalai; 

VTCo}.yj(p6(t(v dv, of ye, d ivep avrov ^tAjororo? TyjkiKOVTtcv ovrav aira TUV 

hiaupopeiv OVK eroXyoc xpeyrrcca-dcu, oi)8’ eypaipev OUT' tlq iiricrToX-qv ovleyiotv, 

OZT€ Ttpea-^euTry ovbe'iq tine TSV nap tKt/vov, in) TavTa yitrOaaavTeq 

eavrovq vydq efvjTraray ; Ka\ o yev 'AVTinanpoq Ka) o Tlapyevloiv, Seo-oro'rp 

'biaKOvovvTeq Ka) oi yeWovneq vyiv yend TOUT e VTeutqeaBai, oyuq TOV6' 

evpovTO, yri hi ainZy vydq e^anaT-njOyjvai’ o! 8' 'Adqvaicov, T-qq iXevBepo*- 

TaTt\q noXeaq, npt<r(3eiq Tayfievneq, vydq, olq dnavTuvnaq ey/3Xeneiv, ojq 
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arv^rjv di/dyicq TOV XOITTOV JS/OJ/, Ka) ev oT$ tvOvvxc ypeWov idmiv ruv 

ireitpayuevav, Totfrov; i^aicx-rdv iicetrTrjara.t/. nSt; dv ctvdpomi KCIKIOVS V) 

jAaKKov dmvsvoyijAtvoi TOVTCOV ylvtuvro ; 

(2) \_It has been decreed that all property shall be brought 
into the common stock. First and Second Citizen conversed] 

AN. A. <rv S’ QV Karadeivcu havoei ; AN. B. <pvXd^0[Aai, 

ntp'iv dv y 'lha TO TiAvjSo; o n j3ov\(vtTou. 

AN. A. T/ yap aWo y y (ptpeiv ocapetrKevaa-iAevot 

TO. xpijpia.T flirlv ; AN. B. atA/v’ /Sav eireiOo/Ayv. 

o\<reiv $0Kei<; nv OCTTH; avrcov vovv e^e»; 
• ov yap naTptov TOVT’ ecrrlv, dXKa Xapifidveiv 

}]IAd$ [MVOV Sei" v/j A/a ' «ai ydp cl Oeol. 

AN. A. 03 'baifMvi dvftpuv, ea //.e rSv crpoipyov TI Spdv. 
ravri ydp ta-Ti o-yvSerea. icov jAOvaB' ladq ; 

AN. B. ovrox; ydp olauq ; AN. A. vau [Aa A/a, KOI 817 [Atv civ 

r«8i fwairrs) TCO rp/iroSe. AN. B. rrjs fAtoptai;, 

TO fA?j%e wepiiAelvavra Tovt; aXkovi ? TI 

hpdtrovmv, e’tTa TvjvtKavT'rj^vj—AN. A. r/ 8pav ; 
AN. B. eiravafJ-eveiv, tiicena ZtaTplfieiv eri. 
AN. A. "va Sv] T/; AN. B. treio-fAOf el ytvotTO iroXXdKii;, 

it irvp dicoTpoitov, vt $i<ji!;eiev yaXri, 

izxviraiVT' dv ela^ipaVTeq, SujSpovTriTe <nj. 

AN. A. xapievTa yovv icdOoifA’ dv, el fAvj 'xoifA titoi 

TavTa KaTaOelyv. AN. B. fAij ydp ovv kdftoiq eiroi. 

II. For Greek Prose :—, 

His distressed situation he could no longer ascribe to the 
rigours of destiny, or the malignity of enemies : his own pre- 
cipitancy and indiscretion must bear the blame of whatever 
disasters should henceforth befall him. The most faithful of 
his adherents, between sorrow and indignation, were confounded 
with reflections on what had happened, and what was likely to 
follow. Seeing every prospect blasted, faction triumphant, the 
discontented populace inflamed to a degree of fury, they utterly 
despaired of success in a cause to whose ruin friends and enemies 
seemed equally to conspire. 

HUME. 

III. Translate, and comment on the syntax of:— 

(1) ivo/Aicre [Ay dv yeveaBai icoTe TIO-TOV dvBposmv oa-Tiq aXXov /ASXXOV 

(piXytroi TOV Tvjq <j)vXaKrjq Seopte'vov. 

What does this represent in Oratio Recta ? 

(2) tAerpritrov eloriv^q TI IAOI, Kav Trevr’ erij. 

(3) 0 ydp d<TKoi 81/9 avtipaq e£et TOV fAi, Karalvvai. 

(4) o£ 8e G-viAjAaxoi TeOvdai T$ 8eet Tovq TotcvTOvq ditoTToXcvq. 

(5) s2>.X’ el TI [Arj (pepot/Aev UTpvvev tpepeiv. 

(6) Tv8e£8»)v 8’ OVK dv yvolrjf itOTepoitri iAeTel/j. 

(7) tr 8’ OVK i<rriv lm<rzi\iM) ij dperviy a-Key^ai lav trot tioKa etKorug 

anKTrety. 
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IV. Describe the nature of the confederacy of Delos. What events led 
to its formation and its dissolution ? 

Or, 

Give an account of early Greek colonisation. 

Or, 

What were the forces which made for and against unity in ancient 
Greece ? 

FRENCH. 

LOWER GRADE. 

Wednesday, 17th June. 10 A.M. to 12.30 P.M. 

Candidates must, in all cases, answer Questions 1 ; 2 (or 3) ; 4 and 
5 (Section I), and should attempt four questions (NOT MORE) from the 
other sections. 

SECTION I. 

1. Translate into English :— 

(a) Dans mon enfance j’avais aurdessus de mon lit un petit 
tableau entoure d’un cadre noir que je ne sais quelle servante 
allemande avail accrochi§ au mur. II representait une vieille tour 
isolee, moisie, delabree, entouree d’eaux: profondes et noires qui 
la eouvraieut de vapeurs, et de montagnes qui la couv- 
raient d’ombre. Le ciel de cette tour etait morne et 
plein de nuees hideuses, Le soir, apr&s avoir prie Dieu, et 
avant de m’endormir, je regardais toujours ce tableau. La nuit 
je le revoyais dans mes reves, et je Vy revoyais terrible. La 
tour grandissait, I’eau bouillonnait, un eclair tombait des nuees.-, 
le vent sifflait dans les montagnes, et semblait par moments jeter 
des clameurs. Un jour je demandai a la servante comment 
s’appelait cette tour. Elle me repondit, en faisant un signe de 
croix: “ La ‘ Mausethiirni ’ ” (Tour des Rats). 

VICTOR HUGO. 

Vy. Parse these two words. 

Le Chene. 

(6) Un gland tombe de 1’arbre et roule sur la terre, 
L’aigle a la serve vide, en quittant les vallons, 
S’en saisit en jouant et 1’emporte a son aire, 
Pour aiguiser le bee de ses jeunes aiglons; 
Bientot du nid desert qu’emporte la tempete 
II roule confondu dans les debris mouvants, 
Et sur la roche nue un grain de sable arrete 
Celui qui doit un jour rompre 1’aile des vents; 
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L’ete vient, Yaquilon souleve 
La poudre des sillons qui pour lui n’est qu’un jeu l 
Et sur le germe eteint ou couve encore la seve, 

En laisse retomber un peu! 
Le printemps de sa tiede ondee 
L’arrose comme avec la main; 
Cette poussiere est fecondee 
Et la vie y circule enfin ! 

LAMARTINE. 

gland, acorn ; serve, talon; aire, eyrie; aquilon, north wind; 
couve, is alive (lit. smoulders) ; seve, sap. 

2. G-ive the 1st person singular and plural of the indicative present, 
preterite, and future of mener, lancer, ranger, jeter, and envoyer ; 
and the two participles of savoir, prevoir, mourir, naitre, plaire. 

Or, 

3. Give the 3rd person singular and plural of the imperfect indicative 
and imperative subjunctive of venir, voir, vivre, lire, derive ; and 
the imperative, in full, affirmative and negative, of se battre and 
se taire. 

4. Give the French adjectives (masculine and feminine) corresponding 
to the following nouns : vertu, vice, sagesse, folie, pitie. 

5. Translate into French :— 

A young servant, having been sent to a jeweller’s shop with a 
valuable ring, took it out of its box to admire it while he was 
passing over a plank bridge. Unfortunately he let it fall on the 
muddy bank of the stream. After searching for it without 
success for several hours, he became terrified at the idea of facing 
his master, and ran away from his place, went to sea, and finally 
settled in America, where he made a large fortune. After an 
absence of many years, he returned to England, and bought the 
estate where he had lived as a servant. One day, while walking 
over the plank bridge with a friend, he told him the story of the 
ring. “ I could almost swear,” said he, thrusting his stick into 
the soft clay, “ that this is the very place where the ring dropped.” 
When the stick was pulled out from the clay, the lost ring was 
upon the end of it. 

(K. in “ CHATTERBOX.”) 

SECTION II. 

6. Give all the forms of the French possessive adjectives and pronouns 
meaning—my, mine ; our, ours ; and add a short phrase showing 
the use of each word. 

Or, 

7. Give all the forms of the French demonstrative adjectives and 
pronouns meaning “ this ” and “ that one," and add a short 
phrase showing the use of each word. 

8. Translate into French:— 

How did you return home last Tuesday ? We arrived at the 
station in time for the five o’clock train. We were all very sorry 
that your visit had been so short. Wednesday, June 17th, 1896.. 
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9. Translate into English :— 

(a) Je compare 1’ignorant et le savant a deux hommes places 
an milieu d’une campagne unie, dont Tun est assis centre terre et 
I’autre est debout. Celui qui est assis ne voit que ce qui est 
autour de lui, jusqu’a une tres-petite distance. Celui qui est 
debout voit un peu au dela. Mai« ce pen qu’il voit au dela a si 
peu de proportion avec le reste de la vaste et endue de cette 
campagne, et bien moins encore avec le reste de la terre, qu’il ne 
peut entrer en aucune comparison, et ne peut etre eompte que 
comme pour rien. 

(b) Un jour que Mme Geoffrin vit le bon abbe de Saint-Pierre 
s’installer chez elle pour toute une soiree d’hiver, elle eut un 
moment d’effroi, et, s’inspirant de la situation desesperee, elle fit 
si bien qu’elle tira parti du digne abbe, et le rendit amusant. 
11 en fut tout etonne lui-meme, et, comme elle lui faisait compli- 
ment de sa bonne conversation en sortant, il repondit: “ Madame, 
je ne suis qu’un instrument dont vous avez bien joue.” 

SECTION III. 

10. Translate into French :— 

(а) The meeting lasted from half-past seven on Monday 
evening till a quarter to two the following morning, and no 
decision was arrived at. 

(б) The third of April in the last leap year of the 19th century 
was Good Friday. 

11. Give a brief account of the life and of one of the works of one of 
the following writers:—Corneille, Descartes, Le Sage, Regnard, 
Chateaubriand, Lamartine, Mme. de Stael, Mme. de Girardin. 

Or, 

12. Translate :—English consols at par give a yearly income of two and 
three-quarters per cent. Joint stock limited liability companies 
are very numerous in England. Shares and debentures seldom 
offer the same security. The corn trade and the wool trade 
deal much more with foreign than with home produce. The coal 
and iron mines of England are »he mainstay of her commercial 
prosperity. 
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FRENCH. 

HIGHER GRADE AND FIRST PARER FOR HONOURS GRADE. 

Wednesday, 17th June. 10 A.M. to 1 P.M. 

Candidates must, in all cases, answer the whole of Questions 1 and 2, 
Section I.; and should attempt six questions (NOT MORE) from the other 
sections. 

Candidates answering questions from Sections III. and IV. must not 
answer Section V., and vice versa. 

SECTION I. 

1. Translate:— 

{a) O combien d’actions, combien d’exploits celebres, 
Sont demeures sans gloire au milieu des tenebres, 
Ou chacun, seul temoin des grands coups qu’il portait, 
Ne pouvait discerner ou le sort inclinait! 
J’allais de tous cotes encourager les notres, 
Faire avancer les uns, et soutenir les autres, 
Ranger ceux qui venaient, les pousser a leur tour, 
Et ne I’ai pu savoir jusques au point du jour. 
Mais enfin sa clarte montre notre avantage ; 
Le Maure voit sa perte, et perd soudain courage, 
Et voyant un renfort qui nous vient secourir, 
L’ardeur de vaincre cede a la peur de mourir, 
Ils gagnent leurs vaisseaux, ils en coupent les cables ; 
Nous laissent pour adieux des cris epouvan tables, 
Font retraite en tumulte, et sans considerer 
Si leurs rois avec eux peuvent se retirer. 

CORNEILLE. 

Juin. 

(b) Les pres ont une odeur d’herbe verte et mouillec, 
Un frais soleil penetre en Tepaisseur des bois, 

Toute chose etincelle, et la jeune feuillee 
Et les nids palpitants s’eveillent a la fois. 

Les cours d’eau diligents aux pentes des collines 
Ruissellent, clairs et gais, sur la mousse et le thym, 

Ils chantent au milieu des buissons d’aubepines 
Avec le vent rieur et 1’oiseau du matin. 

LECONTE DE LISLE. 

(c.) En Bretagne le dur granit qui est partout dans cette 
pauvre terre, comme les os sous les muscles d’un corps d’athlete, 
iait des maisons solides et lourdes, qui noircissent a la brume, et 
dont le soleil lui-meme ne peut derider les visages de pierre. La 
foret les accompagne toujours par derriere, comme la criniere 
coiffe la nuque du lion. Elies sont grandes, souvent solitaires ; 
leur orgueil n’est jamais pueril ni bavard. On dirait qu’elles 
regardent en tristesse le large domaine qui les eutoure; elles 
semblent toutes regretter quelque chose ou quelqu’un. 

RAUL F£VAL. 
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2. Translate into French :— 
The character of the fair Jewess found so much favour in the 

eyes of some fair readers that the writer was censured, because, 
when arranging the fates of the characters of the drama, he had 
not assigned the hand of Wilfred to Rebecca, rather than the 
less interesting Rowena. But, not to mention that the prejudices 
of the age rendered such an union almost impossible, the author 
may, in passing, observe that he thinks a character of a highly 
virtuous and lofty stamp is degraded rather than exalted by an 
attempt to reward virtue with temporal prosperity. Such is not 
the recompense which providence has deemed worthy of suffer- 
ing merit; and it is a dangerous and fatal doctrine to teach young 
persons, the most common readers of romance, that rectitude of 
conduct and of principle are either naturally allied with, or 
adequately rewarded by, the gratification of our passions, or 
attainment of our wishes. 

SIR WALTER SCOTT. 

SECTION II. 

3. Give the 3rd person singular and plural of the pluperfect subjunc- 
tive of s'arroger, s'aider; the 1st person singular and plural of 
the subjunctive present and imperfect of conduire, vouloir ; the 
2nd person singular and plural of the conditional present and past 
of cueillir, parvenir. 

Or, 

4. Give the two participles of moudre, coudre, resoudre, medire, 
maudire, repartir, repartir, craindre, paitre, boire. 

5. (a) When is the verb etre put in the plural after ce ? Give two 
short sentences proving the accuracy of your answer. 

(6) When is “ it is ” to be translated by (a) c'est, (6) il est, (c) elle 
est ? Give three short sentences illustrating your answer. 

6. When is “ will” to be translated (a) by the French verb vouloir; 
(b) by the future, (c) by the present of the verb to which will is 
an auxiliary ? 

Translate:—Many men will promise what they never intend 
doing. She will come if you ask her. I will claim my rights, 
though I know only too well that I shall gain nothing by it. 

7. Translate idiomatically :— 

(a) Take this letter to the post office and get it registered. 

(b) I should like to go with you to Paris, but the trip will cost 
more than I can afford. 

(c) As soon as you see her coming, please send me word upstairs. 

(d) Something must have happened to him, for I never knew him 
to be late. 

SECTION III. 

8. “ L’altre meitiet avrat Rollanz li ber.” (Chanson de Roland.) 
Write this line in modern French, and comment on the differences 
in accidence and syntax which it illustrates. 
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Or, 

9. Write the following according to the rules of modern French :— 
“ Jo ne lerreie, pur tut 1’or que Deus fist, 

Pur tut 1’aveir ki seit en cest pais 
Que ne li die, se tant ai de leisir 
Que Carlemagnes, li reis poesteifs, 
Par mei li mandet sun mortel enemi.” 

Chanson de Roland. 

10. Give (a) the modern adverbs corresponding to the obsolete forms : 
ades, enqui, anuit, auques, ga jus; (b) the modern prepositions 
having replaced o (formerly od) ; par sum, fors enmi, as or es. 

Or, 

11. (a) Give the etymological origin and intermediate forms of the 
French articles le, la, les, and of their compound forms au, du, 
aux, des.' 

(6) Explain the derivation of loisir, dos, tiers, noce, joie, malade, 
faible, laitue, huissier. 

SECTION IV. 

12. Give in French prose a brief account (a) of one act from a French 
tragedy which you have read ; or, (b) of one of La Fontaine’s 
fables. 

13. State what you know of the influence on French literature of one 
of the following writers: Chateaubriand, Victor Hugo, J. J. 
Rousseau, Balzac. 

14. Give briefly an account of the origin and constitution of the French 
Academy, and of its functions nowadays. 

SECTION V. 

15. Translate :— 

(a) Enclosed we send you bills on your town amounting to 
17GI. 18s. 10d., which you will credit to us; we have 
taken due note of your drafts on us. 

(b) The Stock Exchange refused a quotation for those gold 
mining shares, and there is no demand for them at any 
price. 

(c) A case of samples; cash business; the balance sheet ; 
the board of directors ; a shipbroker ; a stockbroker. 

16. Translate :— 
Messrs. Brown & Co., Glasgow. 

Gentlemen, London, 1st April 1896. 
We beg to hand you enclosed our present price-lists, and 

shall be happy to send you samples and particulars required. As 
our prices have been reduced to the lowest, our terms are cash. 

Awaiting the favour of your kind orders, 
We remain, 

Gentlemen, 
Yours truly, 

JOHNSON & Co. 
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17. Translate:— 
Le Havre, 3 mars, 1896. 

Messieurs, 
Nous avons Phonneur de vous informer qu’en reunion des 

importeurs, les quantites de laines a adjuger a nos prochaines 
encheres ont ete fixees a environ 10,400 balles. 

Les affaires ont ete tres difficiles depuis deux mois, a cause 
de la baisse des peignees et des blousses. Nos detenteurs com- 
prennent tres bien qu’il faut enfin se resoudre a faire les concessions 
exigees par la situation de Pindustrie. 

Nos ventes vont fixer les cours auxquels peut operer la 
fabrique. Nous vous engageons fortement de veniry assister, et 
dans le cas ou cela ne serait pas possible, a nous confer vos ordres, 
pour Pexecution desquels nous vous assurons de tous nos soins. 

Kecevez, messieurs, 
nos salutations empressees, 

FELIX FORTOUL ET CIE. 

FRENCH. 

HONOURS.—SECOND PAPER. 

Tuesday, 23rd June. 10 A.M. to 1 P.M. 

Candidates must, in all cases, answer Questions 1 and 2, and should 
attempt at least four (AND NOT MORE THAN SIX) of the remaining 
questions. 

SECTION I. 

1. Translate :— 

(a) “ Prosperity is the blessing of the Old Testament, 
adversity is the blessing of the New, which carrieth the greater 
benediction and the clearer evidence of God’s favour. Yet, even 
in the Old Testament, if you listen to David’s harp you shall 
hear as many hearse-like airs as carols; and the pencil of the 
Holy Ghost hath laboured more in describing the afflictions of 
Job than the felicities of Solomon. Prosperity is not without 
many fears and distastes; and adversity is not without comforts 
and hopes. We see in needleworks and embroideries it is more 
pleasing to have a lively work upon a sad and solemn ground 
than to have a dark and melancholy work upon a lightsome 
ground. Judge, therefore, of the pleasure of the heart by the 
pleasure of the eye. Certainly virtue is like precious odours, 
most fragrant when they are incensed or crushed; for pros- 
perity doth best discover vice, but adversity doth best discover 
virtue.” 

BACON. 

(b) So have I seen a lark rising from his bed of grass, and 
soaring upwards, singing as he rises. 

J. TAYLOR. 
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(c) If you sincerely desire to write nothing but what you 
clearly know or think, and to say that as clearly and as briefly 
as you can, style will come as a matter of course. 

J. A. FROUDE. 

(d) There is very great danger of our becoming cold-hearted 
as life goes on; afflictions which happen to us, cares, dis- 
appointments, all tend to blunt our affections and make our 
feelings callous. 

J. H. NEWMAN. 

SECTION II. 

2. Translate into English:— 

(a) Je ne me suis point loue au public pour faire des portraits 
qui ne fussent que vrais et ressemblants, de peur que quelque fois 
ils ne fussent pas croyables et ne parussent feints et imagines : 
me rendant plus difficile, je suis alle plus loin ; j’ai pris un trait 
d’un c6te et un trait d’un autre, et, de ces divers traits qui 
pouvaient convenir a une meme personne, j’en ai fait des 
peintures vraisemblables, cherchant moins a rejouir les lecteurs 
par le caractere, ou, comme le disent les mecontents, par la 
satire de quelqu’un, qu’a leur proposer des defauts a eviter et 
des modeles a suivre. 

LA BRUYERE. 

(b) O’est La Fontaine qui est notre Homere. Tout le monde 
1’entend; ce sont nos mots de tous les jours, meme nos mots de 
menage et de gargote, comme aussi nos mots de salon et de cour. 
Nos enfants 1’apprennent par coeur, comme jadis ceux d’Athenes 
recitaient Homere; ils n’entendent pas tout, ni jusqu’au fond, 
non plus que ceux d’Athenes, mais ils saisissent 1’ensemble et 
surtout 1’interet; ce sont de petits contes d’enfants, comme 
ITliade et I’Odyssee, qui sont de grands contes de nourrice. Et 
cette epopee de la Fontaine est gauloise. Elle est hachee menu, 
en cent petits actes distincts, gaie et moqueuse, toujours legere, 
et faite pour des esprits fins, comme les gens de ce pays-ci. 

TAINE. 

(c) Par les flots balancee, une barque legere, 
Hier m’avait porte sur ce vaste vaisseau, 

Qui fatiguait le golfe et sa vaine colere 
D’un inebranlable fardeau. 

Ses longs mats dans les cieux montaient en pyramides, 
Comme un serpent aile, leur flamme au sein des airs 

D6roulait ses anneaux rapides, 
Et j’admirais ce noir geant des mers, 

Arme d’un triple rang de bronzes homicides, 
Qui sortaient a demi de ces flancs entr’ouverts. 

C. DEI.AVIGNE. 

SECTION III. 

3. What was the meaning in Old French of the transitive verbs emparer 
and partir, now obsolete ? Give some short French sentence 
illustrating your answer. 
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4. Give, with a brief note on the use of each, some adverbs of nega- 
tion used in Old French, and account for their being now 
obsolete. 

5. Comment on the changes in French syntax shown in writing in 
modern French the following sentences :— 

(а) Et comencent la rive a aprochier. 
VlLLEHARDODIN. 

(б) Quant il de celle psrillouse terre eschapoit. 
JOINVIELE. 

6. Give the derivation of (/las, glace, glaive, craindre, alors, hurler, 
lire, id, la, lierre. 

7. Explain what is meant by popular and learned Latin, and give an 
instance of each with the French word derived from it. 

SECTION FV. 

8. What were the aims of the French “ Romantic ” writers in the 
early part of this century ? How far have they succeeded in 
radising them ? What are the chief works of their leaders ? 

9. State what you know of Racine’s judgment on Pierre Corneille, 
expressed in the French Academy on receiving Thomas Corneille 
as his brother’s successor. 

10. Analyse one of the following dramatic characters, and quote some 
passage from the play:—Harpagon (L’Avare), M. Jourdain (Le 
Bourgeois Gentilhomme), Henriette (Les Femmes Savantes), 
Andromaque, Camille (Horace), Hernani. 

11. Give a brief account in French of any one of the following works:— 
L’Esprit des Lois, Le Contrat Social, Le Joueur, Les Travailleurs 
de la Mer, L’Honneur et 1’Argent, Telemaque. 

12. “ Le style est I’homme meme.” Comment on this famous saying of 
Buff on. 

SECTION V. 

13. Write an Essay in French (not exceeding 40 lines) on one. of the 
following subjects :— 

(1) Almsgiving. 
(2) Country Life. 
(3) Music as a means of Education. 
(4) The value of Drawing as an art and as an accomplish- 

ment. 
(5) “ La faiblesse est plus opposee a la vertu que le vice.” 

LA ROCHEFOUCAULD. 
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GERMAN. 

LOWER GRADE. 

Tuesday, 16th June. 2 to 4.30 P.M. 

To secure full marks, the whole of this Paper should be answered. 

Additional marks will be given for fair writing in the German 
character. 

SECTION I. 

1. Translate into English :— 
©in reiser SKuttct fam bie Scmbflrafje ba§er geritten unb f)ie It 

bci einem SBirt^auS an, um flcfy ju crfrtfc^en. Wkfyvcn ©dfle, bie im 
^reien um einen Safety tyerum fatyen, untertyielten ficty getabe bacon, baf 
etn Bcrudtytigter SRduBer, ber aUgemein ber fetymarje $eter tyief, in bet 
SRactyt auS bem ©efdngnig entftyrungen fei. „ 3cty gdtyc jetyn Styaler 
barum," Bemerfte felBjlbercutyt bet 2Kann ju Oioty, „ reenn icty oen ^erl 
einmal ju fetyen tefdine." — „ 0letymt ©ucty nut in actyt," ermiberte 
@iner, „ baf et ©mty nictyt gu fruty in ben SEeg Iduft; er muty fldty tyter 
tyerum berflecft tyalten." — „ $aty,'' lactyte ber SKiiher, „ icty fomme nocty 
Bet Sage burcty ben SBalb, unb itBerbieg tyat mein ©ctyimmel jreet Seine 
metyt all ber Sanbjlreittyer (vagabond)." Sei biefen SBorten tyumtyelte 
ein latymer Settler, bem ber ffiirt ein rrenig ju effen gcgeBen tyatte, mit 
tyofiictycm Sanfe bacon. Salb barauf ritt and; ber SKuIIer reciter. 
Qtm SBatbe Begegneten itym jreei Betrunfene ©olbatcn, bie laut fetyrieen 
unb ityn cerftyotteten. 0lacty einer SBeile iaty er ben Settler an bet 
Strafe ft^cn; ber rief gang lldglicty: „ -llcty, guter ^err, greei rotye 
Solbaten tyaBen mir eBen meine tyaar Sfennige abgenommen unb meinc 
Jtrucfe bort an ben Saum getydngt: tyaBt Slitleib unb tyelft mir!" 
2)er duller Befann jlcB einen QIugenBIicf, benn ber Saum flanb auf 
ber anbern Seite eineS OraBenS, itBcr ben nur ein fctymaler Steg fittyrte. 
©nbliety fiegte aBer fein guteS >§erg; er jtieg aB unb fagte: „ >§ier tyalt 
meinen ©auf, berreeil icty bit baS Sing tyole." ^aum rear er inbeS 
jenfeitg beg ©raBeng, alg ber cermeintfictyc £atyme ftety leictyt auf bag 
Sfetb fetyreang unb luftig bacon traBte, inbem er itym gurief: „ Saft 
©ucty bag ©ctyen an meinem Jftitcffiocf nictyt gu faucr reerben, unb 
reenn 3tyr tyeim fommt, fo gruf t bie t^rau Sleiflerin rectyt artig com 
fdtyreargen Seter!" Qllg ber biefe STOuIler gegen STOitternactyt, con 
Sctyreeif? triefenb, an ber Slittyle anlangte, fanb er gu feincr Sreube bag 
Sfcrb an ber ^ofttyiir angeBunben. 

Ulacty ^cBel. 

2. Translate into German (taking care to be consistent in using either 
“ thou ” or “ you ” throughout the letter, and giving the German 
of all the proper names) :— 

My dear George,—Why did you not come yesterday ? We 
waited for you the whole afternoon. Did you forget your 
promise ? William Black and Charles Brown were here; but 
Henry Smith could not come. He had to stay (remain) at 
home; his uncle and aunt were expected from England. I 
think (say, believe), you would have enjoyed yourself. Qur 
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friends had not yet seen our new house, and they liked it very 
much. We have a beautiful view from our windows, and the 
garden is really splendid. It is more than twice as large as our 
old one. Behind the garden wall there is a little wood, through 
which we can get to the sea in less than a quarter of an hour. 
From my bedroom I see several islands, and the mountains on 
the other side of the Firth. Our neighbour, Mr. Hunter, has a 
pretty boat, which I may use when he does not go out to fish. 
Is it not very kind of him ? We sailed for two hours yesterday, 
and took a bath from one of the islands, I shall not go away 
during the holidays. Why should I ? I could not find a better 
place to spend them. I shall ask Mr Hunter to teach me 
fishing, for we have become great friends. Write soon. Ever 
yours, JOHN HILL. 

SECTION II. 

3. Hive the nominative and genitive singular and nominative plural, 
with the definite article, of the Herman words for any ten of 
these :—head, bed, cock, leg, foot, way, roof, star, table, knife, 
morning, bottle, battle, door, work. 

4. Decline, singular and plural, the Herman for his little son, red wine, 
which woman ? 

5. Give the meaning of and compare—fait, nafi, tyod), lang, fiolj, naf)e, 
furj, bunfel, tnuntcr, fanft; and give the Herman for—“ a smaller 
boy,” “ this house is (the) largest.” 

6. Write out—(a) the present and imperfect indicative active of tragen 
and (agcn; (6) the perfect indicative active of fein; (c) the future 
perfect passive of fetyett. 

7. Hive the second person singular present, imperfect, and perfect 
indicative active of nef)men, trerben, fbnnen, getyen, cffen, reofien; 
and the second person singular imperfect subjunctive and im* 
perative active of (jelfcn, lefen, fletBctt, fte^Ien, tf)un, rctffen. 

SECTION III. 

8. Hive the German names (with the definite article) of the four 
seasons, and for the words of time—year, month, week, day, 
night, hour, minute, second. 

9. Give four prepositions that govern the dative only, and four that 
govern the accusative only; and form two sentences with auf, 
showing what case it governs. 

10. Mention three conjunctions that require the inversion of the 
subject and predicate; and three that do not; and form two 
examples, one of the former, and one of the latter kind. 

11. Mention five poems by ©chiller, and give, if possible, the beginning 
of one or two of them. 

12. Mention the titles of as many of ©oetlte’g plays as you can, and state 
what you know of the plot of one of them. 

O o 
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GERMAN. 

HIGHER GRADE AND FIRST PAPER FOR HONOURS GRADE. 

Tuesday, 16th June. 2 to 5 P.M. 

To secure full marks, the passages from and into German should be 
translated. Eight {and eight only) of the remaining questions 
{not less than four to be chosen from Section II., and not less 
than two from Section III.) should be answered. If more are 
answered, only the first eight will be counted. 

Additional marks will be given for fair writing in the German 
character. 

SECTION I. 

1. Translate into English:— 

(a) SSor bent 3^or be§ ©tabidjeng fragte ber J?nec^t ben ndc^tlic^en 
Jleiter, wol)tn er reiten rcotte, unb auf feme Qlntaort: „ 0iac^ Sicfyten* 
ftein/' fcfjlug er einen ©eitcnweg etn, bcr junt Oebirge fu^rte. 2>er 
junge 2Kann ritt fc^toeigenb burcf) bie 9ladit bat)in; er faf) nic^t rec^tg 
noc^ linfg, er fa^ nic^t auf nad) ben ©ternen, nic^t f)inaug in bie ffieite, 
feine gefenften Slide ^afteten ant ffioben. 9lad)bent ber SBalb bic 
SBanberer aufgenontnten, trurben bie Sfabe fieiler, unb tnui)fant flrebte 
bag 9lo^ bergan untcr ber Saji beg Jteiterg unb feiner Oiitftung. 2)ie 
Sad)tluft icefite fuller unb fi)ieltetnit ben langen ^aaren beg Si'mglingg, 
er fit^Ite eg nid)t. <$tunbe unt ©tunbe ijcrrann, ofme baf i^tn ber 
SKeg lang bimfte. @g trar aKitternacfyt, alg fie auf ber ^ocfyflen ^of)e 
anfanten. ©ie traten tyeraug aug bent ffialb, unb, burd) eine trcite 
^luft bon itmcn getrennt, lag auf einent fenfrecfyt aug ber ndc^tlic^en 
Siefe auffleigenben j^elfen ber Sic^tenjletn. ©eine tueijjen SKauern unb 
jadigen Jtli^en fdjitmnerten im Slonblidt. @3 war alg fc^lumtnere 
bag ©d)lofd)en, a6gefd)iebcu non ber SBelt, itn tiefen Srieben ber 
©infamfeit. ©er Sitter rcarf einen btiflern Slid bort^in unb fbrang 
ab. @r banb bag Sferb an einen Sautn unb fe|te jic^ auf einen 
bemooften ©tein, gcgenitber bon ber Surg. ©er .fnedt jlanb erwartenb, 
wag jlc^ wcitcr begeben werbe, unb fragte ntefjrere Slale bergcblid), cb 
er feineg ©ienjlcg je|t entlaffen fei. 

„ 2Bie lang’ ifl’g noc^ big jutn erjlen ^afme nf^rei ? “ fragte enblicb 
ber flunttne Slann auf bent ©tcine. 

„ 3wei ©tunben, >§err!" war bie Qlntwort beg J?ned)teg. 
©cr Sitter reid)tc ifjnt rei^Iic^en So£)n fur fein ©eleite unb winfte 

if)nt, ju geben. @r jbgcrte, alg fd)cue er ftcb, ben jungen STOann in 
bicfent ungliidli^cn Buflanbc ju berlaffen; alg aber 3ener ungebulbig 
feinen SJin! wieberljolte, entfernte er ftd) jlill. Sur eintnal nod) falj 
er ftd) utn, el)e cr in ben SBalb eintrat. ©er fd^weigcnbe ©ajl faft 
nod) inttner, bie ©time in bie >£anb gcftujst, itn ©fatten einer Grieve 
auf bent bento often ©teine. 

SSiltyefnt >pauff, Sitbtenflein. 
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(6) Sine Jtontggwafjl. 
„ 3u ^ac^en fet Me 2Bafy[!" fo warb’6 Be^Ioffen, 
Unb in ba§ Sanb ber 3Re6en unberbroffen 
SBogt nun ein SSoIferfiront bon Sag ju Sag, 
SBetl feinet gem bag 5efl berfaumen mag. 
2)a fle^jl bu Oteiter rafcf) boritberjagen, 
Sort bcangen SBanbrer eilenb flcfy burc^ SBagen, 
Qluf SBergen unb in Sbdlern uberaO, 
5luf atten ©tra^en mogt ber Sftenfcbenfcbrcaft, 
2)ie @tabt bcrmag bie ®dfie faum ju faffen, 
SWan fyilft ftcb, unb man lagert auf ben ©affen 
Unb jubelt, alg ber SKorgenfonne @tra^l 
SSertiinbet ben erfefjnten Sag ber SBa^I. 
©ebon ijl berfammelt in ben @duten£)alien 
2)ie jiolje @cf)ar ber mdcbtigfien SSafatten; 
Unb Dtto na^t, dperrn «§einricb§ ebler ©o^n, 
Unb jauebjenb b^ben fie ibn auf ben Sbron, 
Unb jeber fcbwbrt: „ 3cb mitt 2)ir Sreue bditen 
Unb mii 2)ir tro|en feinblitben ©emalten!" 

% @turm. 
2. Trauslaie into German:— 

Some years ago a touching incident occurred in one of the 
streets of Vienna. A blind old beggar used to stand there every 
evening at a certain corner, and play upon his violin. Beside 
him always sat a large dog who held an old hat in his mouth; 
and now and then some compassionate passer-by would throw a 
copper into the hat. In this way the old fiddler used to get 
enough to live. One night, however, he had played a long time 
without a single penny having fallen into the hat. At last the 
poor man felt so sad and weary that he left off playing. Even 
the dog hung his head as if he knew that he would have to go 
to bed without his supper. Suddenly a gentleman stepped up 
to the man and said, “ You seem to be tired, my good friend, 
allow me to relieve you a little.” He took the violin from his 
hand and tuned it. It was in sooth a poor instrument, but so 
beautifully did the stranger play that soon a large crowd gathered 
round him; and after a while it began to rain so many silver 
and copper coins into the hat that at last the dog could scarcely 
hold it. It was the greatest musician in Vienna who had played 
for the blind beggar, and he had earned enough money for him 
to keep him and his faithful companion for many weeks. 

SECTION II.—GRAMMAR. 

3. Give the nominative and genitive singular and nominative plural, 
with the definite article, of the German words for any ten of 
these :—sentence, advantage, usage, custom, thread, threat, art, 
science, virtue, vice, fault, suburbs, season, stocking, joke. 

4. Distinguish between—ber Qlbflanb, ber Qtnflanb; bereit, bereitg; bie 
3Katf, bag SUarf; bie Saflen, bie Safler; bie $bore/ Hjoren; 
oerlegt, berlegen; b0¥ib b^jern; terbreiten, berbreitern; abgegeffen, 
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5. Give five German nouns (with the definite article and meaning) 
which, while making their plural in the weak way, take the 
strong form in the singular ; and five other nouns which may do 
so optionally. 

6. Exemplify the declension of proper names by giving the German 
for—John’s stick; Louisa’s dress; little Mary’s doll ; the deeds 
of Frederick the Great; proud Alba’s victories; the inhabitants 
of the kingdom of Saxony; the streets of Berlin; the genius of 
Martin Luther; Prince Albert’s Monument; the reign of the 
Emperor Frederick; King William’s life. 

7. Give the second person singular present, imperfect and perfect in- 
dicative active of sjetflofien, aueSeffen, a^alten, fcgteifen, bu'rcfyfrecfyn; 
and the second person singular, imperfect subjunctive and 
imperative active of entneljtten, bergeffen, flcfy ergeBen, roegrcetfen 
burd)f>te'cf)en. 

8. Give five adjectives and five verbs which govern the genitive; and 
form two sentences of each class. 

SECTION III.—PHILOLOGY AND WORD-FORMATION. 

9. Mention (a) three feminine and three neuter nouns in cni§; (6) 
three masculine and three feminine nouns compounded with 
*mut. 

10. Give five adjectives in djaft, and five in sfelig, pointing out what 
difference there is between some of these latter and others in 
regard to derivation. 

11. Form adjectives (with their meanings) from any ten of these :— 
©orn, ffierg, £unb, 3eit, Jfrieg, @rbe, ffiocfy, SRacfy, (Scfytj, Strfceit, 
(Sruft, erfinbm, folgen, fcfjtt>a|en, fc^meigen. 

12. Form abstract nouns (with their meanings) from any ten of these :— 
tctyfer, ftcfer, feft, rot, fern, bunfcl, f^abenfro^, gefwfam, Bange, bumm, 
jung, gefafyloS, Bereot, ebel, arm. 

13. Give the German or English etymological equivalents of any ten 
of each of the following two sets of words (adding, in each case, 
the exact meaning of the German word) :— 

(a) bare, asp, bier, wont, sly, many, beaver, I ween, to wean, 
crow, sinew, hedge, show, own, goat. 

{V) fcolumn, SBatg, Matter, ftofy firecfen, ©aumert, fyilfam, Oledien, 
©^eibe, micBtig, Seinmanb, fed, Jtluft, aud), Bequem. 

SECTION IV.—LITERATURE AND COMMERCIAL CORRESPONDENCE. 

14. State what you know of two of these writers:—SBalter bon ber 
SSogelmeibe, -ftonrab bon SBurjBurg, >§etnrtcB bon 2Kefyen. 

15. Name five writers of the Romantic school, and mention one work 
of each. 
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16. Specify three important works, by three different writers of the 

18th century, which may be said to have been epoch-making in German Literature j and state in what their importance 
consists. 

17. Assign any twelve of the following works to their respective authors, characterising them in a single word (drama, epic, &c.) :—3)a§ 
J?atl)chen uott ^eilBronn. @ffet)arbt. ®ie 5t6beriten. iDie SlegeL 
jal^re. Torquato Safjb. S)te Jbaroltnger. Uriel 51cofla. Saofoon. 
2)er fliHe «§etnri^. 2)e§ JUtafcen SBunber^orn. 2)er (Sib. 2)ie 
$iccolomini. 2)a§ 0larrenfc^iff. 5luf ber >§bl)e. 5)ie berlorene 
<§anbfc^rift. 33ilber au§ ber beutfc^en ©ergangen^eit. 
©c^tcert. S)er ©pagiergang. 

18. Write, in German, to a firm in Hamburg, offering your services as agent at the place where you reside, and giving particulars as 
to your qualifications and experience. 

19. Reply to the preceding letter, accepting the offer, and asking for 
information as to what particular class of goods might be likely 
to find a market at that place. 

20. Translate into German :— 
In reply to yours of the 30th ult., I beg to say that we have 

just now no vacancy in our house ; but, as one of our young men 
thinks of going to South Africa within the next three months, 
it is possible that we shall require some one in his place ; and if 
that should be the case, we may soon have an opportunity of offering your young friend a place in our office. I see from 
what you tell me about him that he would be just the kind of 
man we want, I should, however, be glad to see a specimen 
of his handwriting, and you might, perhaps, tell him to write to me, in the course of next month, as to whether he still is anxious 
to come to us. 

GERMAN. 
Honours.—Second Paper. 

Tuesday, 23rd June. 2 p.m. to 5 p.m. 
To secure full marks, the passages from and into German should be translated. Eight (and eight only) of the remaining questions 

(not less than Jive to be chosen from Section II.) should be answered. If more are answered, only the first eight will be 
counted. 

Additional marks will be given for fair writing in the German 
character. 

Section I. 
1. Translate into English:— 

a. 3n ber SKitte be§ 2)orfe§, neben bent •Scpulgenpof, lag bte $farre, 
cin uber l)unbert 3al)re alteS, ettrag juritcf gebauteS ©iebel^aug, bag an 
(Stattlicpfeit weit Winter ben nteijlen Sauerljofen gurucfblieb. ($g war 



214 EXAMINATION PAPERS. 
ba§ etnjtge gro^cre ©ebaitDe int Drte, bag nod? etn 6tro^bac^ 
3u bcrfc^iebenen 3KaIen war babon bie 9tebe gewefen, biefeg ber 2>orfs 
gentcinbc fowo^I um tl)reg ^aflorg wie um i^rcr fetbft witlen bcrac^tlid? 
erfc^etnenbe @trol)bac^ burc^ ein Siegdbad) ju erfe^cn, ber alte $farrer 
aber, ber wenigfleng in biefem SPunfte ein gcwiffeg <®tilgefut)l befall, 
^atte befidnbig gegen fol^e SWobernijlrung ©infprucb er^oben: eg fei 
gut fo, wie eg fei, meinte er. Unb barin |)atte er boflfommen rec^t; 
eg war eben ein 2) or fib's) t(, bag butd) jebe 5lnberung nur berlieren 
fonnte. ffontane, SSor bem <sturm. 

b. Sag Oleicb befanb fid) in einer unge^euern SSerwirrung. ffiag 
bie Jlreu^uge anfdnglicb ©uteg gewirft fatten, war burcb ben ^ambf 
gwifdfen bem 33ater unb @obne bernid)tet worben. ffio 3flu^e fierrfcbie, 
ba ging fie aug ©rmattung unb ©rfd)5bfung ijerbor. ©er foniglicbe 
3^ron wurbe nic^t gead)tet; nur 38ebrdngte fud)ten if)n, unb rduberifc^e 
grebler, bie i^ren @ewaltti)aten burd) ben itonig ben @d)ein beg 9led)teg 
ju geben wunfd)ten. ©ie @tdbte aber fatten ftd) bergrofert unb 
befefiigt, unb in ifjnen wofmte ein frifd)er ©eifi, ber balb bcmutig, balb 
tro^ig feinent 3i^e, ber Brei^eit, juflrebte. ©ie armen SBewotfner beg 
Sanbeg enblid), ju bem ©efuf)i gefommen, bafj fte ^enfd)en feien, blicften 
fefjnfucbtgbeli auf bie ©tdbte, an beren @d)icffa! fie if)r eigeneg gcfniibft 
fa^en. <§. Suben, ©ef^id^te ber ©eutfd)en. 

c. ffiie ung bie Gutter auferjieiit jum Seben, 
©rgie^t bag Seben ung gema^ jum ©terben; 

2Bir foUen einfi ben @d)eibefcld), ben fjerben, 
3u trinfen wijfen fonber ©rau’n unb SBeben. 

©rum forbert eg wag eg ung reid) gegeben 
Qltimd^Iicb wieber unb gerfd)Idgt’g in ©cberben, 
©er 8eib wirb fted), wie fid) bie fiocfen fdrben; 
5ln taufenb @d)ranfen bridjt beg ©eifleg ©treben. 

Unb wie ber iPilger, bem auf t^au’gen SBegen 
©ag SBanbern eitel Sufi fd)ien in ber Sruffe, 
5im Qlbenb bod) fief) fetjnt bem 3idl entgegen: 

SSerlangt’g aud) ung gule^t ang 3iel ber SWit^e, 
Unb alle fRaft erfd)eint ung alg ein ©egen, 
Db aud) im ©fatten fie beg ©obeg biiifie. 

©manuel ©eibel. 
2. Translate into German 

a. There was no one in the kitchen when Lisbeth entered and threw herself into the chair. She looked round with blank eyes 
at the dirt and confusion on which the bright afternoon sun shone dismally; it was all of a piece with the sad confusion of her mind—that confusion which belongs to the first hours of a 
sudden sorrow, when the poor human soul is like one who has 
been deposited sleeping among the ruins of a vast city, and wakes 
up in dreary amazement, not knowing whether it is the growing 
or the dying day. At another time Lisbeth’s first thought would 



EXAMINATION PAPERS. 215 
have been, “ Where is Adam ? ” but the sudden death of her 
husband had restored him in those hours to that first place in her 
affections which he had held six-and-twenty years ago; she had forgotten his faults as we forget the sorrows of our departed 
childhood, and thought of nothing but the young man’s kindness 
and the old man’s patience. Her eyes continued to wander blankly until Seth came in and began to remove some of the 
scattered things, and clear the small round deal* table, that he 
might set out his mother’s tea upon it. 

George Eliot, Adam Bede. 
b. (1) Had he kept silence he would have been considered » 

wise man. 
(2) She spared no pains to make him comfortable. 
(3) There is not much love lost between them. 
(4) Do you mean to say you have done this on purpose ? 
(5) He has fallen out of the frying-pan into the fire. 
(6) Why do you always beat about the bush ? 
(7) Would you carry coals to Newcastle ? 
(8) At Rome one must do as the Romans do. 

Section II.—Philology and Syntax. 
3. Mention ten nouns formed with the prefix ge=, having either a 

collective sense (e.g., ©emduct), or the sense of excessive action 
(e.g., ©ettrimmet) ; and give the gender and meaning of the 
words. 

4. Form, by means of prefixes (not prepositions), derivative verbs 
with a comparative or causative force (e.g., to diminish), from 
the adjectives :—tteit, fcfyledjt, niebttg, tief, fein, retd;, (iart, fcfyon, eng, 
tyocfy. Add the meaning to each verb. 

5. Comment briefly on the forms of any ten of these, noting any irregu- 
larity :—©etmrtgtag, ©tbrenfrieb, Saugenicfytg, fagenljaft, mbdjentlid), 
tragbar, mittmodjS, furdjterlicb, i$r Jtinberlein, SiebeSbrief, ©arauS, 
dpoffaljtt, Jtleinob, ba§ ift atlerliebjl, fielje ba! 

6. Give the meanings of, and, if possible, German synonyms (words of the same meaning) for any twelve of these:—etnf)efltg, 
fdjtanfenlog, Seibeigner, Setuf, 5lnerbieten, letbltd), fjintanfe^en, ter* 
legen, ©ercogenljett, fatten, rucbloS, jud^tigcn, ©bentnaf, wa^ntrt^tg, 
gefc^eit, Bbgltng, jubcrldffig, able^nen. 

7. Exemplify the idiomatic use of prepositions by giving the German of twelve of the following:—on horseback; by dint of know- ledge ; to die of consumption; upstairs and downstairs; at leisure; from to-day; by twos and threes; to be on one’s guard ; 
to be in time; at any rate; on purpose; notwithstanding his promise ; on my account; at his expense; according to nature ; 
by the way; on the spot; at length. 
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8. Give the German for the following sets of words (each set to be formed from the same radical word) :—high, height, to heighten ; 

true, truth, truthful, truthfulness; brother, brotherly, brother- hood ; Christian, Christianity, Christendom; to do, deed, doer, 
active; rich, riches, to enrich; to live, life, living (adj.), lively, 
liveliness. 

9. Give two distinct German words, with the definite article, for each 
of any ten of the following English homonyms (words with more than one distinct meaning) :—youth, letter, trunk, waste, ashes, arm, lime, room, play, cross, mail, corn, rent, plane, sound, 
pitch. 

10. State what you understand by Old High German, Middle High German, and Modern High German ; and specify some of the 
chief linguistic features of each of these phases of the language, and the principal literary movements of the corresponding periods 
of literature. 

Section III.—Literature. 
11. State what you know of the SKtnnefdnger. 
12. Give some account of the two Silesian schools, or the ^atnfunb. 
13. Define Berber’S place in German literature. 
14. Specify the schools, or literary groups, to which the following 

writers belong, and mention one work of each :—Ufjlanb, 
Olabener, £eifewi£, SBrentano, Dpi§, Berner, ©u|foi», Utucfert, 2B. 
Gutter. 

15. State what you know of the novelists of the present day. 

ARITHMETIC. 
Lower Grade. 

Monday, 15th June. 10 a.m. to 11.30 a.m. 
Candidates are not expected to attempt every question. 
All answers sent in should be written out neatly and legibly. To obtain full marks, all the steps of the work must be shown, and such explanation added as is required to indicate the methods adopted. 
No marks can be given for results without work. 

1. By what number must 4766 be multiplied to obtain 2759514 as product ? 
2. What sum will remain out of 25 guineas, after paying 8s. 6d. for bread, £2 15s. 3%d. for meat, 19s. 6d. for fish, 8s. 10|rf. for vegetables, £1 16s. 8d. for groceries, £1 4s. 6^<7. for milk, 

14s. 8d. for washing, £3 14s. 6d. for dress, £4 13s. 6d. for wages, and £5 8s. 4d. for rent ? 
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<7 9? 

3. A steam-engiue, working steadily day and night, consumes a hundred-weight of coal in 7^ hours. How many tons will be 
used in 100 days. 

4. An army of 145,600 men loses 12£ per cent, of its number through 
disease, and 15 per cent, of the remainder in battle ; how many men are left ? 

5. (1) Show that the numbers 111 and 11111 are prime to each other. (2) Find the least common multiple of the even numbers from 2 to 
20, inclusive. 

6. A grain of gold if beaten into gold-leaf will cover 67£ square inches. Find, in yards, the length of the side of a square that 
can be covered) by an ounce Troy of gold-leaf. 

(1) 'l+M + M + 'J. v J 20 24 25 ^ 
(2) 

Simplify— ... 17 , la , 10 
^405 

of n 7i+lt‘2f of3f 
8. Express (1) 5 yds. 2 ft. 4 in. as a vulgar fraction of a mile; 

(2) £2 17s. 4<7. as a decimal fraction of £13 8s. 9d. 
9. (1) Multiply ’02475 by *64, and divide the result by ’000125 ; 

•681x-61 (2) Reduce to a single vulgar fraction 1 • 184- *36 
10. Find the total rental of a town if a tax of 9(7. in the pound on rents 

brings in £2,163 14s. 3d. 
11. A rectangular tank is 18 feet long, 14 feet broad, and 10 feet deep. Find the cost of painting the sides and bottom of the inside at 

Is. l^d. the square yard. 
12. At what rate must simple interest be charged in order that £2,375 may increase to £2,826 5s. in four years ? 

ALGEBRA. 
Lower Grade. 

Monday, 15th June. 3 p.m. to 4.30 p.m. 
Candidates are not expected to attempt every question. 
All answers sent in should be written out fully and carefully. All the steps of the work must be shown, and any explanation which may be necessary should be added. 
All writing and figures should be legible and well arranged. 
Attention to these points will secure additional marks. 

1. Add together 4(x—2y+3z), — b(y—2z + 3x), and 6(z-2x+3y). 
2. From (ar—4) (x2—3x + 5) take (x—3) (x2—2x—6). 
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3. If a=26, 6=3c, find the value of— 

b(a+c) _c(a—b) a(a—b-\-c) 
a(b-\-c) b{b—c) c(a+b—c)' 

4. ^Simplify— 
0) -^[15a;-2y + z-3{a?-3y-(y-42;)}-(2ar-z)] ? 
(2) a?2—#—6 ya?2~4 ^2+^-6 . '■ J a?—4a;-t-4 a2—9 ic2+4a;+4f 

(3) ' a +    --)■ 1—ac a 
5. Solve the equations— 

c —a 
ac—1 
b —a 
T^ab 

(1) i(3*-l) + i(5*-l)_i(5*+2)=! (3* + 5); 
(2) — = -25-'^; X X 
(3) (x+2a) (x+b) — 0+a) (x + 2b) = (a + b) (x—b). 

6. Resolve into factors— (1) x2-Zx-2Si 
(2) 2a;2 -a;-6; 
(3) a3+a26—a62—53; 
(4) (a+26—c)2—(a—6 + 2c)2. 

7. A man’s salary was increased by £20, but at the same time income tax was raised from Qd. to 8rf. in the pound, the result being that 
his nett income was only increased by £14 10s. Find his original salary. 

8. Simplify— 
m 6 + 1 l + a , (a+ 26—1) 
' ; (1—a) (a—b) {a-b) (1-6)'r(6-l) (1-a)’ 
. . (a4+a^y—a;2y2+3a;y3— 12y4 

^ ^ a;4+2a?y+x2y%~- 16,y1 

9. Extract the square root of a:4+l—a;(a?2 + l) +2\x2. 
10. Prove the identity— (^+y3+23) (a; + y+«) —(a^+y2+2:2)2 

=yz{y—z)2+ zx(z—x)2-\- xy (x —y)2. 
11. Solve the equations— f a;+y + z = 2«, 

m J 32 = 62’ ''ll 1 1 
[-2*+F+i‘=10> 

(2) (16—3a;) 4a; = 100-9a;. 
12. A room 432 square feet in area is to be covered, all except a margin of 2 feet in width all round, by a carpet; the area of this 

carpet is 31 square yards 1 square foot. Find the dimensions of 
the room. 
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GEOMETRY. 
Lower Grade. 

Monday, 15th June. 12 noon to 2 p.m. 
Candidates are not expected to attempt every question. All ordinary 

symbols and contractions are allowed. 
Care should be taken to omit no steps of the proofs, and to indicate 

the previous propositions, etc., on which they depend. Figures should be accurately drawn, writing legible, and the different steps neatly arranged. 
It is not necessary to write out the general enunciations of propositions 

but the particular enunciations should be given. Attention to these points will secure additional marks. 
1. Define a parallelogram, a rectangle, a square. 

What defect exists in Euclid’s definition of a square ? Give 
a definition free from this defect. 

2. If three sides of one triangle be respectively equal to three sides of another triangle, the two triangles shall be equal in every respect. 
A and B are the centres of two circles which intersect in C 

and D, show that CD is bisected at right angles by AB. 
3. If two triangles have two sides of the one respectively equal to two sides of the other, but the contained angles unequal, the base of 

the triangle which has the greater contained angle shall be greater than the base of the other. 
4. Triangles on equal bases and between the same parallels are equal. If B and F are the mid-points of the sides CA and AB of the 

triangle ABC, and BE, CF meet in 0, shew that the quadri- lateral A FOE is equal to the triangle OBC. 
5. Construct a square on a given straight line. 
6. AOB and COD are two intersecting straight lines: find all the points which satisfy the two conditions that their distances from 

AB are equal to one given straight line, and that their distances from CD are equal to another given straight line. 
7. If a straight line be divided into two equal parts, and also into two unequal parts, the rectangle contained by the two unequal parts 

shall be equal to the difference of the squares on half the line, and on the line between the points of section. 
The length of a line is 62 inches, the rectangle contained by 

the two parts into which it is divided is 792 square inches; apply this theorem to find the point of division. 
8. Determine the longest and shortest lines which canfbe drawn to the circumference of a given circle from a. given point within the circle. 
9. The opposite angles of a quadrilateral inscribed in a circle are supplementary. 

AB, BC are equal arcs of a circle, and P is a point on the arc 
BC. Shew that BP bisects the angle contained by ^4P and CP produced. 
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10. The angles which a tangent to a circle makes with a chord drawn through the point of contact are equal to the angles in the alternate 

segments of the circle. 
Two circles AOB, COD, touch internally or externally in 0, and AC, BD are double chords drawn through 0; show that 

AB is parallel to CD. 

ARITHMETIC. 
Higher Grade. 

Monday, 15th June. 10 a.m. to 11.30 a.m. 
Candidates are not expected to attempt every question. All answers sent in should be written out neatly and legibly. 
To obtain full marks, all the steps of the work must be shown, and such explanation added as is required to indicate the methods adopted. 
No marks can be given for results without work. 

1. Write down in figures the number one hundred and eleven thousand one hundred and eleven, and resolve it into its component prime factors. 
2. If a gallon contains 277*29 cubic inches, how many gallons will be contained in a rectangular cistern whose length, breadth, and 

depth are 13 feet, 7 feet 6 inches, and 6 feet 7 inches ? 
3. Find the cost of the paper required for a room 19 feet 9 inches 

long, 16 feet 3 inches broad, and 11 feet high, if the paper be 
2 feet 9 inches broad, and cost 3s. 6c?. per piece of 12 yards, assuming that one-sixth of the surface of the walls is not to be papered. 

4. A tradesman’s selling prices are 25 per cent, above cost price, but he allows his customers 5 per cent, on the amount of their bills. What profit per cent, does he make't 
5. A Portuguese barrel contains 28^ English gallons. If a French cask contain 49),- gallons, find the smallest whole number of gallons which will fill an exact number of Portuguese barrels, 

and which will also fill an exact number of French casks. 
6. Simplify— 

X 779 252 
1161 451’ 

(2) 4*359375 of 8c?.- *669 of 3s. 5\d.+ 7i6 of 18*. 9c?. 
7. Express (1) ^ and ^ as recurring decimals, and explain why the 

sum of the recurring periods gives a series of nines. 
(2) From the above results, or otherwise, obtain the vulgar frac- 

tions which are equivalent to *65853 and *41463. 
8. Tramcars run on a certain route, at intervals of 15 minutes, at a speed of 7^ miles an hour, and a man walking steadily in the 

same direction is overtaken by a car every 25 minutes: (1) 
how fast does he walk ? (2) if he walked at the same rate in the opposite direction, how often would he meet a car ? 
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9. A circular bicycle track, 22 feet wide, and a quarter of a mile round, if measured 1 foot from the inner edge, is to be laid out 

in a square field ; what will be the area, in acres, of the smallest 
suitable field, assuming that the circumference of a circle is 2^-of 
the diameter ? 

10. A person possessing 8,925/. in the Cape of Good Hope 3| per cents., sells out at 117|, and with the proceeds buys Russian 5 per 
cents, at 1361 > t^ie araount °f stock obtained, and the 
increase of his income, assuming that he pays J per cent, for 
brokerage in each transaction. 

ALGEBRA. 
Higher Grade. 

Monday, 15th June. 3 p.m. to 4.30 p.m. 
Candidates are not expected to attempt every question. All answers sent in should be written out fully and carefully. 
All the steps of the work must be shown, and any explanation which 

may be necessary should be added. All writing and figures should be legible and neatly arranged. 
Attention to these points will secure additional marks. 

1. Simplify— 
G+s) (4+«-“)+(H) (c+“-4)+ (a+D 

2. ~il st^+ax^-^bx + l can be divided exactly by a;2+a: +1, show that 

3. Resolve into factors— 
(1) x(x—\)—a{a—\) ; 
(2) (ac + bdy + (bc—ad)2; 
(3) ^+*2+!. 

4. A tailor buys a piece of cloth for a certain sum and sells 2 yards more than one-fourth of the whole at a profit of 25 per cent. 
He afterwards succeeds in selling the rest at a profit of 75 per cent., and finds he has made a profit of 60 per cent, on the whole transaction. How many yards of cloth did he buy ? 

5. When are quantities said to be in continued proportion ? 
Show that^/S + v/S + v/ll, v'S + v/lO—y'IS, y'S + v'lO 

+ -V/13, and + a/6—a/II are in proportion, and that 4^3 + 5 f‘2, 2 + a/G, and are in continued proportion. 
6. If -+--f—=0, show that x y a 
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3. Solve the equations— 

(1) a;+l x—1 x+7 ’ 
m /*y+*y2=i2, W l y+^y=18; 
(3) {(a:—2)2—a;}2—(x—2)2=90—x. 

8. What is the price of eggs per dozen when 32 fewer in 7s. worth would raise the price 2d. a dozen ? 
9. Extract the cube root of— a0—Gar6 + 21^—44a,3 + 63a;2—54# + 27. 

10. Prove that when m and n are positive integers and m > n, 
am -i- an = a m“”. Divide a4—2a4—a4—3a?i + 6a:-l + 3a?-A by a4—3a?-l. 

11, Find the roots « and j3 of the equation ax2+bx + c=0. 
Express ^+- and a3 -f a2j3 + a/?2+(33 in terms of a, b, and c. P a 

12. Define the Arithmetic, Geometric, and Harmonic, means between two quantities. There are four numbers, the first three of which are in Arith- 
metic progression, and the last three in Harmonic progression. 
Show that the four numbers are in proportion. 

GEOMETRY. 
Higher Grahe. 

Monday, 15th June. 12 noon to 2 p.m. 
Candidates are not expected to attempt every question. 
All ordinary symbols and contractions are allowed. 
Care should be taken to omit no steps of the proofs, and to indicate 

the previous propositions, &c. on which they depend. Figures should be accurately drawn, writing legible, and the different 
steps neatly arranged. Attention to these points will secure additional marks. 

1. If two triangles have two sides of the one respectively equal to two* sides of the other, and have also the angles equal which are 
opposite to the greater of the given sides, the triangles shall be equal in every respect ? 

If two triangles have two sides respectively equal, and the 
angles equal which are opposite to the lesser sides, what conclusion 
is to be drawn respecting the other angles ? 

2. Equal triangles on the same base and on the same side of it are between the same parallels. 
ABC is a fixed triangle; find the locus of a point which moves so that the sum of the triangles PAB, PAC is constant. 
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3. The square on the sum of two straight lines and the square on their difference are together equal to twice the sum of the squares on 

the two lines. 
4. Draw a tangent to a circle from a given outside point. A triangle is inscribed in one of two concentric circles and its 

sides touch the other. Show that the radius of the outer circle 
is double that of the inner. 

5. Inscribe a square in a given circle. 
Show that the difference between the square on the side of 

a regular octagon inscribed in a circle and a square inscribed in 
the same circle is equal to the rectangle contained by the radius 
and the side of the inscribed square. 

6. If a straight line be drawn parallel to one side of a triangle, it shall 
cut the other sides, or these sides produced, proportionally. 

ABC is a triangle, Z> is a point in AC such that A I) : DC= 4:3, -E is a point in AB such that AE : EB=5 : 2; BD and 
CE meet in F-, show that BE: ID—14: 15. 

7. Similar polygons may be divided into the same number of similar triangles, having the same ratio to one another that the polygons 
have; and the polygons are to one another in the duplicate ratio 
of their homologous sides. 

Describe a polygon which shall be similar to a given polygon, 
but shall have half its area. 

8. Draw a straight line perpendicular to a given plane from a given point without it. 
Find the plane which passes through a given straight line and 

has the least inclination to a given plane, and state the results in 
the particular cases when the given line is (1) parallel and (2) perpendicular, to the given plane. 

9. If the mid-points of the opposite sides of a quadrilateral be joined by straight lines, these lines will bisect each other. 
Each of the sides of a quadrilateral is divided into four equal 

parts, and the corresponding points of the opposite sides are joined 
by straight lines. Show that each of these lines is divided into 
four equal parts. 
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ELEMENTARY TRIGONOMETRY AND LOGARITHMS. 
Higher Grade. 

Friday, 19th June. 10 a.m. to 11.30 a.m. 
Candidates are not expected to attempt every question. Ordinary 

contractions may be used. 
All answers sent in should be written out fully and carefully, showing all steps of the work. Figures should be accurately drawn, and writing should be legible 

and neatly arranged. Attention to these points will secure additional marks. 
1. What is the exact meaning of the statement that tt is a measure of 

two right angles ? ■22 Assuming that how many yards of string, *02 of an 
inch in diameter, will be required to wind round and cover, for a 
length of 10 inches, the handle of a cricket bat, on an average 
• 98 of an inch in diameter ? 

2. Define the cosine of an angle, and express the cosine in terms of each of the other trigonometrical ratios. 
If cos A=gj, find the values of each of the other ratios, and 

explain the double sign in some of your results. 
3. Find a formula for all angles which have the same tangent. Hence, show that if the angles A and A' have the same tangent, and B and B' have the same tangent, then A + B and 

A' + B’ will have the same tangent. 
Is a similar result true if the word tangent be altered to sine r 

4. Assuming the formulge 
, sin {A + B)—sim4cosi? cosAsinB, cos(A + B) —cosAcosB—sinAsinB, 

find the values of sin2^4, cos2^4. and cos3A. 
Hence, from the equation cos30=sin20, obtain the value of 

sin 18°. 
5. Prove the following identities :— cos^4—cos3^4 „ „ 

O dnS^-sin^l =^2A: 
(2) cos2A + cos2#—l=cosG4 -f i^Jcos^—B); 
(3) tanf^ + -f tan^- ^ sec 

6. In any triangle prove that 
x sim4_sinI?_sinC’_ 1 (j) _ g c -2B’ 

where B is the radius of the circumscribing circle ; 
(2) a=6cos C+ccosB. 

7. A square is circumscribed about a circle whose area is an acre. Find, with the aid of a table of logarithms, (1) the area of the square, and (2) the radius df the circle, correct to the nearest 
square foot and linear foot respectively, assuming ir = 3 ‘ 1416. 
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8. The top of a mast, viewed from two stations on opposite sides of 

it, in a horizontal line through its base, and at a distance c from 
each other, has elevations a. and |3; find expressions for the height 
of the mast, and the distances of its base from the stations. 

9. Find the angles B and C of a triangle, having given b = 235, 
c=95, A=62° 34'. 

ALGEBRA. 
Honours Grade. 

Monday, 15th June. 3 p.m. to 4.30 p.m. 
Candidates are not expected to answer every question, but all the work sent up should be fully and carefully written out. Additional 

marks will be given for neatness and good style. 
1. If-+-+- — 0, and—4—  x y z a?+a y+a z + a 

prove that 
T+A’+i+i=o. yz zx xy a? 

2. What is meant by mathematical induction ? 
Prove by induction that n2—(n—l)2 + (n—2)2— •• +(-l)”-i=l + 2 + 3+ +n. 

3. When are four quantities said to be in proportion ? If a, b, c, d are unequal, and if 
A/(a

2+52) (c2+<P)-V(a2+c2) (&2+d2)= (6—c) (d—a), 
then a, b, c, d are in proportion. 

4. Solve the equations, giving all the roots :— (1) x2-y2=5, y2 + 2xy—3 ; 
(2) y+z+yz=b+-c> 

b—a z+x+zx=—, 
c—b x+y+xy=~h- 

a2 

5. Prove that,'if x is positive, the value of # + — is least when x—a. 
In running an express train the cost for wear, tear, and engine 

power varies as the speed; the cost for service, interest, &c., 
vanes as the time occupied by the journey. When a train runs 
from London to Edinburgh at the rate of 30 miles an hour the 
cost is 75Z.; when it runs at the rate of 40 miles an hour the 
cost is 65/. Find the most economical rate and the least cost of the train. 

O 89399. p 
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6. Prove the formula giving the number of arrangements of n different things v at a time. Each of a set of cubes has its six faces painted respectively 

white, black, red, blue, green, and brown, so that no two cubes are alike, and every arrangement of the colours is used. How 
many cubes form the set ? 

7. Assuming the binomial theorem for an integral index, prove it for a fractional index. 
Prove that 

v 8 8.16 8.16.24~ ' 10 10.20 10.20.30 1 

8. What are the respective conditions that the equation 
a#2+2Aa; + &=0 

should have real, equal, or imaginary roots ? 
Prove that if the roots are real and unequal the expression 

ax* + ‘Ihx -f b can have both positive and negative values, but if imaginary only the one or the other. What happens if the roots 
are equal ? Illustrate your answers graphically. 

9. Prove that the product of two complex numbers is, generally, a third complex number, and find the exceptional case. 
If(a + V-1) (c + <V—1)-^+JV-1, prove that 

{c-d^-\) = U- V^-\ ; 
and deduce that (a2+62) (c2 + d2) can be shown as the sum of 
two squares in two ways. 

GEOMETRY. 
Honours Grade. 

Monday, 15th June. 12 noon to 2 p.m. 
Candidates are not expected to attempt every question. All ordinary symbols and contractions are allowed. 
Care should be taken to omit no steps of the proofs, figures should 

be accurately drawn, writing should be legible and work neatly arranged. Attention to these points will secure additional marks. 
1. The line AB is divided at C and D so that the rectangles AC . AB, 

DB . AB are each equal to the square on AD. Equal circles with centres A, B, and radii AD, BC, cut in P. Prove that 
the angles PAB, PBA are each one-fifth of two right angles. 

2. A point Pis taken so that the sides of a triangle H 5(7 subtend equal angles at it. The lines AP, BP, CP, cut the circles cir- 
cumscribing the triangles BPC, CPA, APB in Q, R, S respectively. Prove that AQ = BR = CS. 

3. Show that it is possible to draw through each of two non-coplanar straight lines a single plane parallel to the other, and show that 
these two planes are parallel. Hence show how to construct the shortest distance between two such straight lines. 
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4. Explain the convention of signs in dealing with line segments, and 

prove that if A, B, C, D, be four collinear points then 
AB . CD + BC . AD + CA . BD = 0. 

5. What is meant by the centroid of a triangle ? Cr is the centroid of 
the triangle ABC; 0 is any point; A Q and QR are respectively equal to, parallel to, and in the same direction as OB, OC; 
prove that OR lies along OG, and is equal to three times OG in length. 

6. Prove that the radius of a circle through the three escribed centres 
of a triangle is equal to the diameter of the circumscribing circle. 

7. When do four points form a Harmonic Eange ? If A, B, C, D be four such points in order, prove that any 
circle through A and C is cut orthogonally by the circle on BD as diameter. 

8. Define the radical axis of two circles, and prove that in general the radical axes of three circles taken two and two are concurrent, 
stating carefully the special cases that may occur. 

A circle passes through two fixed points, and cuts a given 
circle; prove that the common chord passes through a fixed 
point. 

9. Prove that in general two circles have two centres of similitude, and state the exception. 
Prove also that two squares with their sides parallel, have, in 

general, two centres of similitude. 
10. Define the polar of a given point with respect to a given circle. 

The radius through a point P, inside a circle, cuts its polar in Q; any line through P cuts the circle in XV; prove that 
XQ, YQ are equally inclined to BQ. 

TRIGONOMETRY AND LOGARITHMS. 
Honours Grade. 

Friday, 19th June. 10 a.m. to 11.30 a.m. 
Candidates need not attempt to answer all the questions, but all the work shown up should be carefully written, and no steps of the proofs 

should be omitted. The necessary figures should be accurately drawn. Attention to these points will secure additional marks. 
1. Draw a curve, showing the variation in tan 0 as 0 ranges between 

zero and 2ir radians. Hence, or otherwise, show that the equation tan 0 = 0 has one 
root between w and one between 2ir and one between 3w 
and and so on. 

P 2 
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2. Prove that 

cos(ra+l) A+cos(n—1) A=2 cos A cosnA, 
and hence show that 

coa5A =16 cos5 A —20 cos3 A + 5 cos A. 
3. Write down the formula for all the angles that have a given cosine. Find all the angles less than tt that satisfy the equation— 

cos 50=0. 
Assuming the result of Question 2, obtain the values of cos 0 

from the same equation, and compare your two sets of solutions. 
4. Assuming that in any triangle 

sin^4 _ sin5_ sin C 
a b c ’ 

deduce the equality 
a=b cos(7+c cos.6. 

If 0 be a point within a triangle such that 
labo=lbco= jl CAO=e, 

_ 2ab sin (7 prove that tan 0=a2+&2+c2- 
5. Show that the distance between the centres of the inscribed and circumscribed circles is —2Rr). 

If R=2r, prove that the triangle is equilateral. 
6. What is meant by an inverse function in Trigonometry ? If cos-1#+cos-1?/ + cos-12=?r, prove that 1 = #2+y2+z2 -f 2xyz. 
7. A traveller descending a straight road inclined at an angle y to the horizon observes that the elevation of the summit of a mountain 

directly in front of him is a; at a distance c further on he observes that the elevation is [3 ; find the height of the mountain 
above the second place of observation. If a=20°, j9=30°, <y=.iO°, c=800 feet, find the height to an inch. 

8. Enunciate and prove Demoivre’s theorem for a positive integral index ; and show that, if n be an integer, cos n0 and sin n6 can each be expressed as a rational homogeneous function of cos 0 and sin 0. 
Hence, or otherwise, show that 

(cc*— Gx2y2+y4) 2+16(#3/3 — xsy)2= (x2+y2)i. 
9. Sum the series 

(1) sec 0 sec 20 -|-sec 20 sec 30 + . . + sec n6 sec (n +1 )0; 
(2) sin 0 + sin (0 + a) + sin (0 + 2a) + . . -f sin (0 + (n- l)a), where wa=2ir, and explain your result by a geometrical illus- 

tration. 
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ELEMENTS OF DYNAMICS. 
Additional Mathematical Subject. 
Friday, 19th June. 2 p.m. to 3.30 p.m. 

Candidates need not attempt to answer all the questions. All the 
work should be written out fully and carefully, giving all the steps of 
the proofs and the detailed work of the calculations. Additional marks 
will be given for neatness, good style, and carefully drawn figures. The acceleration due to gravity may be taken as 32 feet per second per second. 

1. Define speed. 
The hour hand of a clock is" 3 inches long, and the minute hand is 5 inches; compare the average speeds of their ex- 

tremities. 
2. A particle is projected vertically upwards with a velocity of 40 

feet per second. Find (1) how soon it will reach a height of 
16 feet, and (2) the greatest height to which it will rise. 

3. Enunciate the proposition known as the Triangle of Forces, and 
show how it may be deduced from the Triangle of Velocities. If a force of 7 units, acting in a given direction, be in equi- 
librium with forces of 5 and 6 units, give a geometrical con- 
struction to find the directions of these forces. 

4. Define the centre of gravity of a rigid plane body, and explain an experimental method of finding its position. 
A uniform lamina, of irregular shape, has a triangle ABC . drawn upon its surface and it is found that when the lamina is suspended from the middle point of AC, AC is horizontal, and 

that when it is suspended from the middle point of AB, AB is 
horizontal; find its centre of gravity, and show that when it is suspended from the mid-point of BC, BC will be horizontal. 

5. Describe the common balance. A grocer has a balance the lengths of whose arms are in the 
proportion of 7 to 8. In order to weigh 14 lbs. of flour, he 
placed a 7-lb. weight first in one pan, and then in the other, and 
handed the customer both the counterbalancing quantities of 
flour. Find the gain in weight to the customer. 

6. State the laws of statical friction, and define the coefficient of friction. 
A body, placed on a plane which rises 5 feet in 13 feet, measured along the plane, is just about to slip; find the co- 

efficient of friction. 
7. Define density and specific gravity. If the specific gravity of copper be 9, find the weight of 6-4 

cubic inches of copper, assuming that the weight of a cubic foot 
of water is 1000 ounces. 

8. State Boyle’s Law. A bladder contains 40 cubic inches of air when exposed to 
the pressure of the air; find its volume in cubic inches, correct to three decimal places, when sunk in water to a depth of 100 
feet, assuming the height of the water barometer to be 33 feet. 
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HIGHER DYNAMICS. 
Additional Mathematical Subject. 

Higher Grade and Honours. 
Friday, 19th June. 2 p.m. to 3.30 p.m. 

Candidates need not attempt to answer all the questions. All the 
steps of the proof should be given, and any explanations which may 
be necessary should be added. Additional marks will be given for neatness, good style and careful figures. 

Except in Question 3, the acceleration due to gravity may be taken as 
32 feet per second per second. • 

1. Two coplanar forces of equal magnitude and in given fixed direc- tions act at points A, B oi & rigid body ; show that however 
the body is moved in the plane of the forces their resultant 
passes through a fixed point in the body, and find this point. 

2. Define the centre of mass of a body. 
At the vertices of a triangle are placed masses proportional to 

the opposite sides; show that their centre of mass is that of the inscribed circle. 
3. State the third law of motion, and explain its application to Atwood’s machine. 

In an Atwood machine, the weights at the beginning of an experiment were 23 ounces and 22 ounces respectively; after 
two seconds a weight of one ounce was removed from the heavier side, and in the next three seconds the weights moved 
four feet. What value does this experiment give for “ <7 ” ? 

4. A train is intended to round a curve of 33 chains radius, at the 
rate of 45 miles an hour. Drove that there will be no side pressure on either rail if one of them (state which) is raised 
3^ inches, their distance apart being 4 feet 8 inches. 

If trains travel at 15 miles an hour above and below the proper speed, find the respective side ‘pressures and their direc- 
tions, due to the engines, weighing 36 tons, as they are rounding 
the curve. 

5. Define Horse-power, Work, Coefficient of Friction. 
The pressure between the driving wheels of an engine and the rails is 12| tons, the coefficient of friction is ‘05; what is the greatest pull the engine can exert on the level ? If it exerts 

this pull in drawing a train 30 miles per hour, what is its horse- power ? 
6. Show how to determine the velocities of two spherical balls of mass m, in', travelling in the same direction with velocities u, 

after direct impact; the so-called “ coefficient of elasticity ” being e, and state the experimental result of which you make 
use in your answer. 

A ball of mass 7 lbs., moving with a velocity of 13 feet per second, is overtaken by another ball moving with a velocity of 
49 feet per second, which, after the impact, is reduced to rest. 
The coefficient of elasticity being 1, find the mass of the second ball. 



EXAMINATION PAPEKS. 231 
7. Prove that the curve of motion of a projectile in a vacuum is a parabola. 

A golf ball, projected at an elevation of 30°, fells at a distance 
of 200 yards ; neglecting the resistance of the air, find its initial velocity, and the distance it would have cleared if the elevation 
had been 45°. 

8. Distinguish between whole pressure and resultant pressure of a liquid on the surface of a solid. 
A rectangular tank, 10 feet by 6 feet, and 3 feet deep, is 

filled with water; find the whole pressure on the tank and the 
resultant pressure on each of its sides, assuming that a cubic 
foot of water weighs a thousand ounces. 

Find also the centre of pressure on each side. 
9. Define the metacentre of a floating body, and explain the import- ance of its position. 

A long thin test tube floats empty, with one-third of its 
volume immersed. Show that the least quantity of water that must be poured in to make it float upright will cause it to float 
with two-thirds of its volume immersed. 

GEOMETRICAL CONICS. 
Additional Mathematical Subject. 

Higher Grade and Honours. 
Friday, 19th June. 4 p.m. to 5.30 p.m. 

Candidates need not attempt to answer all the questions, but all work 
sent in should be full and careful, and no steps of the proofs, or explana- 
tions of the constructions, should be omitted. Figures should be accu- 
rately drawn. Attention to these points will secure additional marks. All ordinary symbols and contractions are allowed. 

J. In the parabola prove that PiV72=4 AS . AN. If the ordinate AP be produced to P', so that NP'2—2NP2, 
show that the locus of P' is a parabola, and find its focus and directrix. 

2. Prove that the focal chord which is bisected by a diameter of a parabola, is equal to four times the focal distance of the extremity 
of that diameter. 

Show how to inscribe in a parabola a focal chord of a given length. 
3. Draw two tangents OP, 00 to a parabola from an external point O, and show that the angle OPS is equal to the angle QOS. 

ABC is a triangle right-angled at A, and N is a point in BC. If points P and Q be taken in AB and A C, so that PS 0 is a 
right angle, show that PQ, always touches a fixed parabola, 
whose focus is S', and find the directrix of this parabola. 

4. Prove that in any central conic CS • CN= CA2. Hence show that any circle which passes through S and X, and the circle which is described on the major axis as diameter, 
cut each other orthogonally. 
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5. Prove that in an ellipse SP: ST=CA : CT, and show that if the auxiliary circle cut the tangent in Q and Q', CQ and CQ' are 

parallel to SP and S' P. 
6. Define a hyperbola and an asymptote, and from your definition prove that the hyperbola has two asymptotes. Show that each of the asymptotes may be regarded as a diameter 

which coincides with its conjugate diameter. 
7. A chord PP' of a hyperbola meets the asymptote in Q and Q'; prove that QP= Q' P'. A and B are fixed points on the curve, P is any other point on the curve, PA and PB meet an asymptote in Q and R ; show 

that QR is of constant length. 
8. Show that an oblique section of a circular cylinder in an ellipse, whose foci are the points of contact of spheres that are inscribed 

in the cylinder, and touch the plane of section. 

ANALYTICAL GEOMETRY. 
Additional Mathematical Subject. 

Higher Grade and Honours. 
Friday, 19th June. 12 noon to 1.30 p.m. 

Candidates need not attempt to answer all the questions, but all the 
work should be very carefully written, and no steps of the proofs should 
be omitted. The answers should be accompanied by carefully drawn figures. Attention to these points will secure additional marks. 

The co-ordinate axes may be assumed to be rectangular throughout. 
1. Find the length of the straight line joining the points (a, b), (c, d). Prove that the points (3, 2), (1, 0), (2—^/3, 1 + y'S), are the 

vertices of an equilateral triangle. 
2. Obtain the equation to a straight line in terms of the intercepts a, b which it makes on the axes. 

Find the equation to the straight line which passes through 
the origin and through the mid-point of the part of the above 
line intercepted by the axes. 

3. Find the tangent of the angle between the lines joining {cc, y) to 
(A> ^i)> (^2> ^2)- Hence find the locus of a point P at which two given segments 
of a straight line subtend equal angles. 

4. Find the perpendicular distance of the point (Ji, k) from the line ax-{-by-t-c=0. 
Hence, or otherwise, obtain the equations to the two lines which bisect the angles formed by the lines 3x+4y=l2, and 

5a?—123, =20. 
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5. Prove that the equation aa-2+2Aa?y+6y2=0 represents two straight lines, and find the tangent of the angle between them. 
6. Show how to change from one set of rectangular co-ordinates to 

another set with the same origin. Transform the equation a;3+5,3=a3 to another set of rectan- 
gular axes which have revolved in a negative direction through 
an angle ~ from the given axes. 

7. Find the equation to the tangent to the circle at a point 
(*', y')- Hence find the condition that the line lx+my=a should touch 
the given circle. Show that the line a?(l—<2) + 2y#=a(l+#2) is a tangent to 
the above circle for all values of t, and find the co-ordinates of 
the point of contact. 

BOOK-KEEPING. 
Wednesday, 17th June. 2 p.m. to 4.30 p.m. 

Charles Mitchell, having purchased the Iron Founding business of 
J. Strachan & Co., Aberdeen, finds his Assets and Liabilities at 1st January, 1895, to be :— 

Assets, 

Premises - 
Manufactured Goods 
Pig-Iron . - - - 
Sundry Goods (used in manufacturing) 
Goodwill - 
Town and County Bank 
Cash on hand 

£ s. d. 
1,370 0 0 
2,375 0 0 

570 0 0 
335 0 0 
350 0 0 

4,500 0 0 
50 0 0 

£9,550 0 0 

Liabilities. 
£ s. a. 

Capital 
' J. Strachan & Co. 

4,550 0 0 
5,000 0 0 
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He makes the following transactions :— 

1895. January 1. 
„ 2. 

» 20. 
* 31. 

February 4. 

„ 15. 

» 20. 

„ 27 „ 28 

March 1. 
„ 3. 

31. 

£ *. Paid J. Strachan & Co., to account (by cheque) 4,000 0 Cash lodged in Bank - - - - 30 0 
Sold Ramsay & Taylor, manufactured goods, invoiced at - - - - - 690 10 Sold A. Rutherford, manufactured goods, in- voiced at - - - - - 865 12 
Purchased from John Williamson & Co., pig-iron, invoiced at - - - - - 320 5 Purchased from William Crawford, sundry goods, invoiced at - - - - 125 6 
Received from Ramsay & Taylor - - 621 9 
Discount allowed them - - - - 69 1 
Received from A. Rutherford, to account - 100 0 
Above amounts received to-day, lodged in Bank 721 9 Sold Ramsay & Taylor, manufactured goods, invoiced at - - - - - 422 7 Sold A. Rutherford, manufactured goods, in- voiced at - - - - - 270 2 Purchased from John Williamson & Co., pig- iron, invoiced at - - - -2103 
Purchased from William Crawford, sundry goods - - - - - - 62 7 
Paid for repairs to premises (by cheque) - 23 9 Borrowed from A. Kinnaird, bearing interest at 5 per cent. - - - - . 500 0 
Same lodged in Bank - - - 500 0 Paid John Williamson & Co.’s January account (by cheque) - - - - 288 4 Discount allowed by them - - - 32 0 Paid J. Strachan. & Co. (by cheque) - - 1,008 6 Paid William Crawford his account (by cheque) 168 18 Discount allowed by him - - - 18 15 
Cheque drawn for cash - - - - 250 0 Paid wages (in cash) .... 235 4 Paid Insurance (in cash) - - - 15 15 

d. O 
& 
O 

O 
8 0 
0 
0 
O' 
6 
6 
O 
O 
6 
O 
0 
6 6 
8 4 
4 0 
0 6 

On 31st March, Charles Mitchell shows his goods on hand as follows:— 
£ s. d. 

Manufactured Goods - - - 1,341 3 8 
Pig-Iron - - - . _ 490 3 0 
Sundry Goods - - - - 320 5 0 

Open Ledger Accounts for and enter therein the Assets and Liabilities 
at 1st January, 1895. 

Record the above transactions in a Day-Book, a Cash-Book (columnar 
one recommended), and an Invoice-Book. 

Frame Journal entries for the following:— 
March 1. Allow J. Strachan & Co. Interest on £1,000 for 2 months, 

at 5 per cent. (£8 6s. 8tZ.). 
March 31. Allow for Interest, at 5 per cent., to A. Kinnaird, on 

£500 for 1 month (£2 Is. 8<f ). 
Write £50 off goodwill. 
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Post all the entries to Ledger Accounts. Separate Ledger Accounts 

should be opened for each class of expenditure, viz.: Wages, Insurance, 
&c.) 

Frame a Profit and Loss Account (or a Trading Account and a 
Profit and Loss Account), and carry the balance to the debit or credit 
of Charles Mitchell’s Capital Account. Then frame a Balance Sheet. 

[The Balances (or balancing entries) in the Ledger Accounts should 
all be filled in and the Accounts closed and ruled off.] 

(Candidates are only desired to journalize the entries which are not 
suitable to enter in the Day, Cash, and Invoice-Books. No marks will 
be given for the journalizing of entries which should be entered in these books.) 
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COMMERCIAL ARITHMETIC—First Paper. 
Thursday, 18th June. 2 p.m. to 2.30 p.m. 

This paper will be taken up at the end of half an hour, when the other paper will be given out. 
The sums are not to be copied out. 
Add the columns placing the answers in the spaces provided. More 

importance will be attached to accuracy than to quickness. 
{Name of School   

' Name of Pupil  


